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Question Id : 42558911191 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

Study the table given below and answer the questions that follow :

The table below shows the cost price

(in Rupees) and sale price (in Rupees) of four items for five years.

Item A Item B Item C Item D
. Cost Price|Sale price|Cost Price |Sale Price |Cost price |Sale Price |Cost Price |Sale Price
2015 200000 | 230000 | 100000 | 110000 25000 28750 25000 28750
2016| 140000 161000 | 150000 | 165000 27500 31625 27500 31900
2017 210000 | 241500 | 160000 | 176000 40000 44000 30000 35100
2018| 185000 212750 | 190000 | 209000 33300 38295 40000 47200
2019 170000 195500 | 199500 | 221445 34000 39100 34000 40460

Sub questions

Question Number : 1 Question Id : 42558911192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which item maintains profit in the same percentage on cost every year ?

(1
(2
(3
(4

)
)
)
)

A
B
&
D

Options :

42558943556. 1
42558943557.2
42558943558. 3
42558943559. 4

Question Number : 2 Question Id : 42558911193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which item has profit in the same percentage on cost during first two and last bwo years only ?

(1
(2
(3
(4

)
)
)
)

A
B
&
D

Options :

42558943560. 1
42558943561.2
42558943562. 3
42558943563. 4

Question Number : 3 Question Id : 42558911194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Profit of which item increases by one percent every year ?

(1

(2

3
(4

)
)
)
)

A

B
&
D




Options :

42558943564. 1
42558943565. 2
42558943566. 3
42558943567. 4

Question Number : 4 Question Id : 42558911195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which item has 10% gain in the percentage of profit in the last year than its percentage of profit in
the first year ?

1 A
2 B
@) C
@4 D
Options :

42558943568. 1
42558943569. 2
42558943570. 3
42558943571. 4

Question Number : 5 Question Id : 42558911196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What is the percentage of profit of sale price of item D in 2019 on the cost of 2015 ?
(1) 38.21%
(2) 57.29%
(3) ©61.84%
(4) 68.21%
Options :
42558943572 1
42558943573. 2

42558943574. 3
42558943575. 4



Question Id : 42558911191 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

Frferfiae arferenT =T sreaam oY 3T wyHl o I S
frfafes afes & ui= aul @t 9] wei/axgsii @ are ged (¥ H) R foshl (e o) =1 g9t 7 €
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A gen | fadfiaen | eomaew | fadfigen | ermgem | fsftoer | erwogen | Tt aew

2015 200000 230000 100000 110000 25000 28750 25000 28750

2016| 140000 161000 150000 165000 27500 31625 27500 31900

2017 210000 241500 160000 176000 40000 44000 30000 35100

2018 185000 212750 190000 209000 33300 38295 40000 47200

2019| 170000 195500 199500 221445 34000 39100 34000 40460

Sub questions

Question Number : 1 Question Id : 42558911192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i G He Yok o SnTd W gHA Hiaer § ey o e T @ 7

1 A
(2 B
@ C
(4) D
Options :

42558943556. 1
42558943557.2
42558943558. 3
42558943559. 4

Question Number : 2 Question Id : 42558911193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

F Gl 7E Fad wem 1 37 3ifaw <1 a6t F SRE Ane W gEE wfave | oy St w2

(1) A
(2 B
@ C
“4) D
Options :

42558943560. 1
42558943561.2
42558943562. 3
42558943563. 4

Question Number : 3 Question Id : 42558911194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



form T" =61 o1 Wik o Uk gfae | e S € 2

(1) A
(2 B
@ C
“4) D
Options :

42558943564. 1
42558943565. 2
42558943566. 3
42558943567. 4

Question Number : 4 Question Id : 42558911195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fora Tt wom o § gu oner wiawa 1 qor H, offom ad F one gfawa & 10% 1 eri/e@Ed g €2

1 A
(2 B
@ C
@4 D
Options :

42558943568. 1
42558943569. 2
42558943570. 3
42558943571. 4

Question Number : 5 Question Id : 42558911196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

2015 ! @FTE W 2019 H ¥e D # foshl geg W oy =1 gfawa 50 € ?
(1) 38.21%
(2) 57.29%

(3) 61.84%
(4) 68.21%
Options :

42558943572. 1

42558943573.2

42558943574. 3

42558943575. 4

Sub-Section Number : 2
Sub-Section Id : 425589444
Question Shuffling Allowed : Yes



Question Number : 6 Question Id : 42558911197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which type of research, researcher observes the subjects by being a part of their group ?
(1) Action research

(

(3)  Descriptive survey

[

) Ethnographic research

(4) Experimental research
Options :
42558943576. 1
42558943577.2
42558943578. 3
42558943579. 4

Question Number : 6 Question Id : 42558911197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

foF wer o wier ¥ witerkal, Serara famdi/<iml o GHE 1 9T TR SR J&T01 L € 2

(1) Torarees 9y

(2) FenfqauE oy

(3) foaorens g

(4)  TENTHE Y
Options :

42558943576. 1
42558943577.2
42558943578. 3
42558943579. 4

Question Number : 7 Question Id : 42558911198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following steps of research in order of their occurrence :
Deriving findings

Interpretation of the results

Formulation of the hypothesis

Defining the research problem

o0 e

Measuring the dependent variable

Choose the correct answer from the options given below :
1y D,CE B A

2y D,CBEA

3) CDBEA

4 EDCBA

Options :

42558943580. 1

42558943581. 2

42558943582. 3
42558943583. 4



Question Number : 7 Question Id : 42558911198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
oy & Frefafiaa =2l &t 33 ufeq a1 & &0 o et 51|
A, TreRd 9|

B.  UROTH = =TS

C. Yoy famfor

D. Y guEN 1 giedfea e
E. A9 == 3 HI9T SR

= feu U fosedi ° 9 W& 3T T4
(1) D,CEBA

(23 D,CB,EA

(3) CD,B,EA

(4 ED,CBA

Options :

42558943580. 1
42558943581.2
42558943582. 3
42558943583. 4

Question Number : 8 Question Id : 42558911199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which are the conditions for using parametric test for data analysis ?
N=>30

Data follows normal distribution.

All the parameters must be known.

Dependent variable is measured in interval or ratio scale.

moN®p

Homogeneity of variance.

Choose the correct answer from the options given below :
(1) A, Band D Only

(2) B,Dand E Only

(3) B, CandD Only

(4) A, CandE Only

Options :

42558943584. 1

42558943585. 2

42558943586. 3
42558943587. 4



Question Number : 8 Question Id : 42558911199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

2l faverqur o Ty grafesr wWiaror s 3+ 1 91 96 © 7

A, N>30
B. e WA ool 1 ST e 3 € |

C. |y yrad Td 2 =ifeu |

D. 2T =R 1 T SoRTE STl ST WO T 8HT =fe |
E. 90 &1 FHE

= fau o foeredi § ¥ wE W A ¢

(1) oad A, B3RD

(2) ©REE B, D 3RE

(3) e B, C 3D

(4) FHFA A, CHRE
Options :

42558943584. 1
42558943585.2
42558943586. 3
42558943587. 4

Question Number : 9 Question Id : 42558911200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the characteristics of distribution free non-parametric tests ?
They can be applied on original data obtained in any kind of scale.

They require homogeneity of variance.

They do not need any particular type of distribution.

They can not be used, if sample is selected randomly.

mo0® e

They are quicker and easier than parametric tests.

Choose the most appropriate answer from the options given below :
(I) A, Band C Only

(2) D and E Only

(3) CandE Only

(4) A and E Only

Options :

42558943588. 1

42558943589. 2

42558943590. 3
42558943591. 4



Question Number : 9 Question Id : 42558911200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafea % & M Ot foa Taa smmEfersr ader i fadand € 2

A. A Tt offt TR Y T R 9T gt el W ST (R S g ¥
B. 3% WU @ HHEYA eI Bl § |

C. 3% fordi fawra yahR 3 faaeon =1 swavashal & &idt ¢ |

D. fe yfaedl wefess w9 @ =afa o s 8, 9 vy 72 fou < aea €
E. O WrEfers Th&m 1 gor | @i S SEE B €

= feu U foskedi § | W& I A ¢

(1) oA A, B3R C

(2) FA D SARE

(3) %99 C SRE

(4) oI A SRE
Options :

42558943588. 1
42558943589. 2
42558943590. 3
42558943591. 4

Question Number : 10 Question Id : 42558911201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List - I List - II

A.  Study of the life style of Indian L. Descriptive research
people between 1900 to 1947

B. Testing significance of difference I1. Ethnographic research

between job satisfaction of
government and non-government
employees
C.  Study of effectiveness of Yoga exercises III.  Historical research
on mental health of policemen

D. Study of nomadic people’s IV. Experimental research
perception regarding their life
in real situation

Choose the correct answer from the options given below :

(1) A-IL B-II C-1V, D-1

(2) A, B-I, G-IV, D-II

(3) A-LV, B-I, C-II, D-II

(4) A-l, B-1L, C-1V, D-1

Options :

42558943592. 1

42558943593. 2

42558943594. 3
42558943595. 4



Question Number : 10 Question Id : 42558911201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

it - 1 o1 Gl - 11§ goferd &
et -1 gt - 11

A, 1900 ¥ 1947 F e AT S T SHad el I.  SUERHE Iy
Eafeizpr

B. U{ENI 3R TR-Twhil FH=fdl #1 F4 ggfe o 1. Jenfaao i
ST FT TIefeRal T e

C. fem s & arfas @ W Ay i L Ufqerfas sy
QUi &1 Ueh 12994

D. At fefa § Sfiad & a) | gHg AN 6l =R IV. JArTTeHs I

o fau o foeredi # 9 Wl s A -

(1) A-IL B-II, C-1V, D-I
(2) A, B-I, G-IV, D-II
(3) A-1V, B-I, C-III, D-IT
(4) A-II, B-II, C-1V, D-1

Options :

42558943592. 1

42558943593. 2

42558943594. 3
42558943595. 4

Question Number : 11 Question Id : 42558911202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As per NEP 2020 document, National Research Foundation (NRF) will be governed by :

(1) Council of ministers from state and centre

(2) Committee of experts from UGC members

(3) Rotating board of Governors consisting the best researchers and innovators across fields
(4) Board of Governors from Department of Science and Technology

Options :

42558943596. 1

42558943597.2

42558943598. 3
42558943599. 4



Question Number : 11 Question Id : 42558911202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AUl 2020 SEAES % STEN, UL SHEHH WEeIA (THARUE) fFas g sifientea fern s |
(1) 9 3R g F "hHEaRg
(2) IS FEE | v wiEta
(3) Tafs= 431 o 43 virgerdiell IR qar-9s] ame IY9TEE Hed & =Ed g
(@) fomm siR drEnfe faam (DST) | stfvemaes Hed

Options :

42558943596. 1
42558943597. 2
42558943598. 3
42558943599. 4

Question Number : 12 Question Id : 42558911203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which ancient University was located in present day Odisha and was prominent centre of Buddhist
learning ?
(1) Nadia
(2) Nalanda
(3) Vikramshila
(4) Pushpagiri
Options :
42558943600. 1
42558943601. 2

42558943602. 3
42558943603. 4

Question Number : 12 Question Id : 42558911203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

%1 T favafaerem adam eifem ¥ from o IR sty fren =1 vq@ *=s a1?

(1) e

(2) el

(3) fersmufemen

(4) gofTR
Options :

42558943600. 1
42558943601. 2
42558943602. 3
42558943603. 4



Question Number : 13 Question Id : 42558911204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Chronologically arrange the following organisations in order of their year of establishment :
A. Nit Aayog

B. Planning Commission

C.  University Grants Commission (UGC)

D. Indian Council of Social Science Research (ICSSR)

Choose the correct answer from the options given below :

(1) B, CAD

2 DC B A

3} D;B:.AC

4 BCDA

Options :

42558943604. 1
42558943605. 2
42558943606. 3
42558943607. 4

Question Number : 13 Question Id : 42558911204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa deenedl 1 3T T 99 F Fewy | srafte #:i
Hifer @

e A
forgaferemed sHeM SEr (geirHr)
D. sfead FEfaa A% 9o grg -
9 fou o fosredi # 9 wE SR A -
(1) B,C A, D

(20 D,CB,A

(3) D,BAC

(4 B,CD,A

Options :

42558943604. 1
42558943605. 2
42558943606. 3
42558943607. 4

N ® p



Question Number : 14 Question Id : 42558911205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct statements about MOOC.

Blackboard was formed in 1999 and became a public company in 2004
‘Connectivism and connected knowledge” was first course to be called MOOC
Stephen Downes coined the term "X-MOOC" in 2012

FutureLearn was formed by U.K. Open University in December, 2012
Open2Study was formed by Open University, US.A. in 2013

Choose the most appropriate answer from the options given below :

(I) A B,D, EOnly

(20 B, D, EOnly

(3) B,C, DOnly

(4) B,C D, E Only

moN® e

Options :

42558943608. 1
42558943609. 2
42558943610. 3
42558943611. 4

Question Number : 14 Question Id : 42558911205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

MOOC % s H ffafaa § 9 9 w94 o1 =99 &1 |

A, ®iRETE 1999 H Tfad g3T 91 $iX 2004 H WESE Al H iEfdd g3 |

B. ‘'wAfefasH U FaE Fietst’ MOOC #gl SH Sl Y| TSTshH o |

C. H% TEE A 2012 H s 'X-MOOC” fear 11

D. feger 2012 # I 39 favafe=ned g1 ‘®=R@A (FutureLearn) ' o1 T3 Teram 7am o |
E. 2013 # 399 gHafdel, uae g1 $ii"2%El (Open2study) 1 T4 feram 7 o1 |
= feu o forepedi H 9 @& T A ¢

(1) % A, B, D,E

(2) %94 B, D, E

(3) %@d B,C, D

(4) %A B, C, D, E
Options :

42558943608. 1
42558943609. 2
42558943610. 3
42558943611. 4



Question Number : 15 Question Id : 42558911206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - 11 :

List - 1 List - 11
(Education Commission) (Chairman)
A.  University Education Commission L. Mr. Sam Pitroda
B. Secondary Education Commission Il.  Thomas Raleigh
C. Indian Universities Commission III.  Dr. S. Radhakrishnan
D. National knowledge Commission IV. Dr. L. Mudaliar

Choose the correct answer from the options given below :
(1) A-IL B-1V, C-III, D-I

(2) A-II, B-1V, C-1I, D-1

(3) Al B-I, C-lI, D-IV

(4) A-lI, B-1L C-1V, D-I

Options :

42558943612. 1

42558943613. 2

42558943614. 3

42558943615. 4

Question Number : 15 Question Id : 42558911206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - 1 = geit - 11§ gHferd |
q;-j'}-] -1

( Foram smarT) ( 3reTer)
A. fovafaerem foen smm I 47 e
B.  wmAfhe foren swam . o
C. wrdrE fagafermem smm [ M. TH. TurFwH
D. T=HE M SEA V. €. ud qefaar
9 feu o fawed § | wé s 9

(1) A-IL B-IV, C-III, D-1
(2) A-II, B-1V, C-1I, D-1
(3) A-lI, B-l, C-1II, D-IV
(4) A-l, B-1I, C-IV, D-1

Options :

42558943612. 1

42558943613.2

42558943614. 3
42558943615. 4



Question Number : 16 Question Id : 42558911207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of these is a way to overcome communication barriers ?
(I) Respect each other’s differences

(2) Using a translator

(3) Not communicating to all

(4) Using your own language for comfort

Options :

42558943616. 1

42558943617.2

42558943618. 3
42558943619. 4

Question Number : 16 Question Id : 42558911207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fr=fafaa § 9 $9 o gevgia stensti § o8 o w5 i ®2

(1) TH-TE & 919 Haugl 1 THH HAl

(2) HATETEH H SYEN FA

(3)  ohIE HqU/HER TE HLA

(4) gfawn & o SToHT 9 R ST
Options :

42558943616. 1
42558943617.2
42558943618. 3
42558943619. 4

Question Number : 17 Question Id : 42558911208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Before the discovery of the paper, the people used to write on
(I) Mango leaf

(2) Palm leaf

(3) Lotus leaves

(4) Banana leaf

Options :

42558943620. 1

42558943621. 2

42558943622. 3
42558943623. 4



Question Number : 17 Question Id : 42558911208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TSI o HATTERR § Ge, A T femad 91
(1) mH 93
(2) WETH
(3) =HHA 9H
(4)  oRer qui
Options :

42558943620. 1
42558943621.2
42558943622. 3
42558943623. 4

Question Number : 18 Question Id : 42558911209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange in sequence the following steps in the process of communication according to Shannon-
Weaver model.

A. Feedback
B. Destination
C.  Reception
D. Transmitter
E. Source

Choose the correct answer from the options given below :
(1) A D CBE

2y EDCBA

3) CDEAB

4 ECBAD

Options :

42558943624. 1

42558943625. 2

42558943626. 3
42558943627. 4



Question Number : 18 Question Id : 42558911209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
F-ffeR Aige & STER T9R Ufshan & 1= wei &t o7 epm # saaftya L
A.  Yfagfe

B. T

C. |

D. HUwH

E. =4

= feu U fopedi | 9 w8 T A ¢

() A, D,C,B,E
() ED,CBA
(3) CD,E A B
4 ECBAD
Options :

42558943624. 1
42558943625. 2

42558943626. 3
42558943627. 4

Question Number : 19 Question Id : 42558911210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following are the types of communication ?

A.  Group

B. Dreaming

C. Interpersonal
D. Reading

E. Intrapersonal

Choose the most appropriate answer from the options given below :
(1), A, C EOnly

(2) A B, COnly

(3) ¢C, D,E Only

(4) B,C, DOnly

Options :

42558943628. 1

42558943629. 2

42558943630. 3
42558943631. 4



Question Number : 19 Question Id : 42558911210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfefaa % & %9 ¥ H9 % R € 2
A TR

B. S <&l

C. Saadfdas

D. YA

E.  SidEarsas

e feu o fasredi § | W& IO T
(1) & A, C,E

(2) ad A, B, C

(3) @@ C,D, E

(4) @ B,C, D

Options :

42558943628. 1
42558943629. 2
42558943630. 3
42558943631. 4

Question Number : 20 Question Id : 42558911211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List - 1

A. Social media

B. Website
C. E-mail
D. SMS

II.

I1I.
IV.

List - 11

Method of sending longer messages alongwith attachment(s)
via internet

A method of sending small text messages from one mobile
to another

Meta Platform

A page or collection of pages on the internet about a
particular subject

Choose the correct answer from the options given below :

(1) A-II, B-1I, C-1V, D-I
(2) A-Il, B-1V, C-1, D-II
(3) A-IV, B-1II, C-1I, D-1
(4) A-IL Bl C-lI, D-IV
Options :

42558943632. 1
42558943633.2
42558943634. 3
42558943635. 4



Question Number : 20 Question Id : 42558911211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

[t - 1 =l Gt - 11 8 gaferd 1|
Tt - 1 Tt - 11

A, He Hifgn [ Ui & AW 9 o9 gou S 5 fafy e steade g2 9ehd €
B. daurEe 1. U Herd 9 gu o ogeee gaw O #i fafy

C. %-Ad M. ¥ wIZHH

D. THUAUH v. favm famresg & o) | $20e W FE 99 91 IS SR

e feu o faswedi # 9 WE SR A ¢

(1) A-II, B-1L C-1V, D-1
)} Al B-1V, C-I, D-II

(3) A-IV, B-lII, C-1I, D-1
) A-ll, B-I, C-1II, D-IV

Options :

42558943632. 1

42558943633. 2

42558943634. 3
42558943635. 4

Question Number : 21 Question Id : 42558911212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If PACE is coded as 2561925, then BALL will be coded as :
(1) 41144144

(2) 161144144

(3) 41441144

(4) 41641144

Options :

42558943636. 1

42558943637.2

42558943638. 3
42558943639. 4

Question Number : 21 Question Id : 42558911212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If PACE 12561925 % &9 H Fecifiad fran < 2, a9 BALL 1 foha yehR Fecifaa fean smem 2
(1) 41144144
(2) 161144144
(3) 41441144
(4) 41641144
Options :
42558943636. 1
42558943637. 2

42558943638. 3
42558943639. 4




Question Number : 22 Question Id : 42558911213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A shopkeeper procures milk at the cost of ¥ 60 per kg. After adulterating it with water (free of
cost), he sells the milk to the customers at the price of T62 per kg. and makes a profit of 10%. In
what ratio does he mix milk and water ?

(1) 56:1
(2) 31:2
(3) 59:1
(4 41:1
Options :

42558943640. 1
42558943641.2
42558943642. 3
42558943643. 4

Question Number : 22 Question Id : 42558911213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T FMCR 60 FIT Ufq foFel 1 @ W gH %9 Fa © | 586 aHT (F:3ew) faem % uveEr, 98 TR
1 Y 62 TIC i forel F Yo T2 SI=a1 € a1 10% 1 0 FA €1 98 R o1 7 gy ofR ure fafim
tan e/fiemar 2

(1) 56:1
(2) 31:2
() 59:1
(4) 41:1
Options :

42558943640. 1
42558943641.2
42558943642. 3
42558943643. 4



Question Number : 23 Question Id : 42558911214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Arrange the following in increasing order of their values.

0.32 0.36

A, 16"x4

1 1 s 1]
B, —| 834273
25

1
C.  (1024) s

1
(2s)
D. I
125

Choose the correct answer from the options given below :
(1) B<D<A<C

(2) B<C<D<A

3) C<D<B<A

(4) C<B<D<A

Options :

42558943644. 1

42558943645. 2

42558943646. 3
42558943647. 4

Question Number : 23 Question Id : 42558911214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frfafiaa =1 39k Wl & 5gd %A H SFafeed # ;

A, 1503254036

i [ 1 I
B. —|83+27°
25

C.  (1024)
&)
125
Fr=1 feu o fasedi § 9 W@ ST A ¢

(1) B<D<A<C
(2) B<C<D<A
(3) C<D<B<A
4 C<B<D<A

Options :

42558943644. 1
42558943645.2
42558943646. 3
42558943647. 4



Question Number : 24 Question Id : 42558911215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Identify the correct statements.

A. 3 successive discounts of 20%, 25% and 20% are equivalent to a single discount of 65%.

B.  The value of 743%+/196 is equal to 98

C. A movement of 180° by minute hand results in 30° movement of hour hand
D. The total surface area of a solid cube of side 5 cm is 150 cm?

Choose the correct answer from the options given below :

(I) A, Band COnly

(2) Band COnly

(3) A, CandD Only

(4) Band D Only

Options :

42558943648. 1

42558943649. 2

42558943650. 3
42558943651. 4

Question Number : 24 Question Id : 42558911215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T FHYE F TBIH T

A. 3 FMWE T 20%, 25% AR 20% e o vFa g2 65% F IR B ¥
B.  3743x+/196 I HH 98 & S & |

C. foe =1 g% 310 180° o1 Sui, 99 &1 JE H 30° & FuiF H qRow S 1

D. & 9 5 HHl a1 3M [ &1 Fa 8 &% 150 992 T |

9 feu o fawed F | wE s oA

(1) oFaaA A, B3RC

(2) oad B3RC

(3) Faa A, C FRD

(4) ¥ B3R D

Options :

42558943648. 1
42558943649. 2
42558943650. 3
42558943651. 4



Question Number : 25 Question Id : 42558911216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - II ;
List -1 List - II
A.  The compound interest on a sum L, 4
of ¥ 200 at an interest rate of 10%
compounded annually for two
years is ¥
B.  The angle (in degree) traversed by IL.. 25
the hour hand of a clock when the
minute hand moves by 90° is

C. Averageof 2, 6,3, 4and 5 is II. 11
D. The next term in the series IV. 42
=B B

Choose the correct answer from the options given below :
(1) A-IL B-1V, C-I, D-1II

(2) A-IV, B, C-1I, D-1II

(3) Al B-1V, C-I, D-II

(4) A-IL B-1V, C-III, D-1

Options :

42558943652. 1

42558943653. 2

42558943654. 3
42558943655. 4

Question Number : 25 Question Id : 42558911216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

it - 1 o1 Gl - 11§ goferd &
T -1 T - 1

A. T aul % faw 10% i At =ewRafs = o I. 4
¥ 200 ®YU FH A W FHglg A

B. @ fA2 &1 |3 90° IHd1 & & =U = §s gH . 75
g fean T s

C. 2,6,3,4 35 % 3&Ed L. 11

D. @ —1,3,7,7,.. 9 a0 95 IvV. 42

= fau o foeredi § ¥ wWE W A ¢

(1) A-IL B-1V, C-[, D-1II
(2) A-IV, B-II, C-1, D-III
(3) A-l, B-1V, C-I, D-II
(4) A-IL B-IV, C-1II, D-1
Options :

42558943652. 1

42558943653.2

42558943654. 3
42558943655. 4



Question Number : 26 Question Id : 42558911217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The term for universal concomitance in Indian Logic is :
(1) Hetu

(2) Drishtanta

(3) Sadhya

(4) Vyapti

Options :

42558943656. 1

42558943657. 2

42558943658. 3
42558943659. 4

Question Number : 26 Question Id : 42558911217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TR TeRuTe T WET weafdar & foe w o s €2
(1 =3

(2) F=IE

(3) =g

(4) =nfa
Options :

42558943656. 1
42558943657.2
42558943658. 3
42558943659. 4

Question Number : 27 Question Id : 42558911218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which means of knowledge (pramana) involves deriving knowledge from linguistic utterances of
reliable persons ?

(1) Anumana

(2) Arthapatti

(3) Pratyaksha

(4) Shabda

Options :

42558943660. 1

42558943661. 2

42558943662. 3
42558943663. 4



Question Number : 27 Question Id : 42558911218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I F forq TeA/suE § favagrg safeadi =t amrg sfaadi 9 3 wif affag 82

(1) A

(2) epeddfa

(3) waE

(4) =
Options :

42558943660. 1
42558943661. 2
42558943662. 3
42558943663. 4

Question Number : 28 Question Id : 42558911219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the steps of constructing an analogical argument in correct sequence.
Identify the target case

Evaluate relevance of the analogy

Establish the shared attribute

Draw an analogy

Identify the known case

Choose the correct answer from the options given below :
(1) A EDCB

2y D,E.ACB

3) BCDAE

4 EACDB

Options :

42558943664. 1

42558943665. 2

42558943666. 3
42558943667. 4

o0 e



Question Number : 28 Question Id : 42558911219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
HIGeA Teh To1 o =01 ol Hel 3hH H afeed i
A, S5 TR eSSl

B.  HEYAdl % Haw o1 HeAih Al
C.  =ren YT T T T

D. HreyFal ferfta sy e

E. G W0 F] 9e=E HC

= feu U fosedi ° 9 wE 3T T4
(1) AED,CB

(22 D,EACB

(3) BC D AE

(4 EACD,B

Options :

42558943664. 1
42558943665. 2
42558943666. 3
42558943667. 4

Question Number : 29 Question Id : 42558911220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which characteristics define an ideal analogy in logic ?
A.  Shared attributes

B.  Similar structure

C.  Dissimilar subject

D. Clear relation

Choose the correct answer from the options given below :
(I) A and BOnly

(2) A, Band COnly

(3) A and C Only

(4) A, Band D Only

Options :

42558943668. 1

42558943669. 2

42558943670. 3
42558943671. 4



Question Number : 29 Question Id : 42558911220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
aF T TRyl gRvaal 1 FF § sifireraor uRtanfua Fa € 2
A, =TEn SAfEem
B. HHEY HEA
C. smAEy faug

D. W HaYy

e fau o fasredi ¥ | Wl s A ¢
(1) o A 3B

(2) aA A, B3RC

(3) FA A IRC

(4) oaa A, B3RD

Options :

42558943668. 1
42558943669. 2
42558943670. 3
42558943671. 4

Question Number : 30 Question Id : 42558911221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - II :

List - I List - II
(Figures of Categorical Syllogism) (Structure)
A. First 15 M-P,5-M — S-P
B. Second II. P-M,5M - 5P
C.  Third II. M-P,MS5 —5P
D. Fourth V. P-M, M5 —SP

Choose the correct answer from the options given below :
(1) A-L B-II, C-1II, D-IV

(2) A-IL B-I, C-1IV, D-1II

(3) A-L B-1V, C-I, D-1II

(4) A-Iv, B-I, C1I, D-II

Options :

42558943672. 1

42558943673. 2

42558943674. 3

42558943675. 4



Question Number : 30 Question Id : 42558911221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

it - 1 o1 Gl - 11§ goferd &
et -1 Tt - 11
( FreuTfires =araarea @t atafa) (FT=T)

A, TeH I.  M-P,5M — S-P
B. fgitg . P-M,S-M — S-P
C. gam II. M-P, M-S > S-P
D. =qd IV. P-M, M-S - S-P
= fau o foeredi § | wé s A ¢

(1) A-l B-lI, C-II, D-IV
(2) A-IL B-I, C-IV, D-1II
(3) A-IL B-IV, CI, D-1II
(4) A-IV, B-I, C-II, D-II

Options :

42558943672. 1

42558943673.2

42558943674. 3
42558943675. 4

Question Number : 31 Question Id : 42558911222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Spearman attributed in general factor of intelligence to , a concept that believed to be
originated with Aristotle.

(1) Hemispheric energy

(2) Soul energy

(3) Internal energy

(4) Mental energy
Options :
42558943676. 1
42558943677. 2

42558943678. 3
42558943679. 4



Question Number : 31 Question Id : 42558911222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TIITHA 3 QT SfEHe 1 FE & srfierfara foran on, T HeheTan S ewEg ¥ 39
HHET ST € |
(1) s S
(2)  SATeRT Sl
(3)  efiafeR el
(4) WHHEEE FH
Options :

42558943676. 1
42558943677. 2
42558943678. 3
42558943679. 4

Question Number : 32 Question Id : 42558911223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

While defining relationship between Teachers and children, use it as socially constructed
development.

(1) Ainsworth
(2) Vygotsky
(3) Bronfenbrenner
(4) Dewey
Options :
42558943680. 1
42558943681. 2

42558943682. 3
42558943683. 4

Question Number : 32 Question Id : 42558911223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e 3IR =R & ®re gey 9Rifie s g, =Y | ' 9§ giea fowm & 9 H
T A © |

(1) eregasd

(2) ST

(3)  SAETIT

4) =dft

Options :

42558943680. 1
42558943681. 2
42558943682. 3
42558943683. 4



Question Number : 33 Question Id : 42558911224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following Committees/Commissions in chronological order, from oldest to latest.
Education Commission on moral and spiritual values

National Policy on Education

Committee on Religious and Moral Instructions

Committee on Emotional Integration

moN® e

Secondary Education Commission

Choose the correct answer from the options given below :
1 A&ECDB

(2} ECD A B

3y ACEDB

4 ECADB

Options :

42558943684. 1

42558943685. 2

42558943686. 3
42558943687. 4

Question Number : 33 Question Id : 42558911224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

freafefiaa wfafadl/ s mani ® QW 9 0 % S9N Hesy § Hafedd & ;

A. A SR snefore Hedi gedt fran s
B.  forem w uedig Aifa

C. wififer 3ir Afaer erRem wfufa

D. YEARTF UhHiE Gal afafa

E. WAt fran smEm

1 feu o fomredi # | W@ ST A -

() A ECD,B

() ECD,AB
@) A,CED,B
(4) EC A DB

Options :

42558943684. 1
42558943685. 2
42558943686. 3
42558943687. 4



Question Number : 34 Question Id : 42558911225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Select the wrong statement.

A.  In Flander's system, there are 10 categories of interaction analysis

B.  Teaching behaviour is ‘molar’ and not "molecular’

s In the teaching behaviour, influence is aimed at both the pupil and the teacher
D. Teaching behaviour is not like any other form of human behaviour

Choose the correct answer from the options given below :

(1) Aand BOnly

(2) A and C Only

(3) Band D Only

(4) Band COnly
Options :
42558943688. 1
42558943689. 2
42558943690. 3
42558943691. 4

Question Number : 34 Question Id : 42558911225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

oo’ FUE H T

A, visd gone § sfafdhan faveroor 1 10 Afore ¥ |

B.  foneror syemr ' amr (HieR) €, 4 enfvaes ! (Hielager) 78 €
C. foreror syaer #, yura arerr AR e SHT W aféad S g
D

3

fo1eTor SRR, WHa =9ER &+ fRET ot ' = e 96

Fr= fou o foskedi § | wd I A ¢
(1) ©oFFa A JARB

(2) e A RC

(3) aa B 3RD

(4) FFA BIRC

Options :

42558943688. 1
42558943689. 2
42558943690. 3
42558943691. 4



Question Number : 35 Question Id : 42558911226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II ;
Match models with their exponents

List - 1 List - I1
A. Anxiety Reduction L. Wolpe and Lazarus
B. Assertive training II.  B.F. Skinner
C. Direct training IIlI. Rinn and Wolpe
D.  Programmed instruction IV. Lumsolaine

Choose the correct answer from the options given below :
(1) A-I, B-1V, C-1I, D-I

(2) A-IL B-1IV, C-1, D-1II

(3) A-I, B-I, C1V, D-II

(4) Al B-I, C1, D-IV

Options :

42558943692. 1

42558943693. 2

42558943694. 3
42558943695. 4

Question Number : 35 Question Id : 42558911226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - 1 = geit - 11§ gHferd |
et - 1 T - 11

A, gf¥eE = I e S @Sy
B.  gUEl yiwiem . Uk fer
C.  yoget giwe 1. f& st g

D. ShREHHT FAIIH V. oHded

1 feu o fomredi § | W@ SR ¢

(1) A-II, B-1V, C-II, D-1
(2) A-IL B-IV, C-[, D-1II
(3) Al B-I, C-1V, D-II
(4) A-Il, B-I, CII, D-1V
Options :

42558943692. 1

42558943693. 2

42558943694. 3
42558943695. 4



Question Number : 36 Question Id : 42558911227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a characteristic of a computer ?
(1) Itis free from monotony.

(2) Itis immensely versatile.

(3) It has its own intelligence.

(4) Itis devoid of emotions.

Options :

42558943696. 1

42558943697.2

42558943698. 3
42558943699. 4

Question Number : 36 Question Id : 42558911227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa § @ 9 o Foget w1 v fagaa 75 €2

(1) 4% UHEqd § 5o ©

(2) I% Tl IgaE ©

(3) T U WE I GfGHd el ©

(4) I% wEAel § ted g ¥
Options :

42558943696. 1
42558943697.2
42558943698. 3
42558943699. 4

Question Number : 37 Question Id : 42558911228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

MS-DOS stands for :

(1) Microsoft Disk Operating System

(2) Micro Software for Digital Operating Systems
(3) Macro Software for Digital Operating Systems
(4) Microsoft Digital Operating Systems

Options :

42558943700. 1

42558943701. 2

42558943702. 3
42558943703. 4



Question Number : 37 Question Id : 42558911228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
MS-DOS 1 qT1 1 €
(1) W fewr s e
(2) WESH WiReRR R fefbea s fawy
(3) WeRl WiRam B fefea sirqfen fawen
(4) TEshEER fefsea sqfen fawq

Options :

42558943700. 1

42558943701. 2

42558943702. 3
42558943703. 4

Question Number : 38 Question Id : 42558911229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the wrong statements.

A. 'CD’ is an example of optical device

B.  ‘Floppy’ is an example of magnetic device

C. ‘Pen drive’ is an example of magnetic state device
D. ‘Memory Card’ is an example of crystal state device
Choose the correct answer from the options given below :
(I) Aand BOnly

(2) Cand D Only

(3) Band D Only

(4) Band COnly

Options :

42558943704. 1
42558943705. 2
42558943706. 3
42558943707. 4



Question Number : 38 Question Id : 42558911229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

O FUA F TIT R

A, 'HIEt gl gfa w6 SR §

B. ‘"ol geekia i 1 33 ©

C. ‘UFgrEa’ Fee syoren i F 3RO §
D. “#ARwE" fFwea saTen gia # Sew ¥
e fau o fasredi ¥ | Wl s A ¢

(1) o A JARB

(2) @EA C XD

(3) aA B SR D

(4) oaE B 3R C

Options :

42558943704. 1
42558943705. 2
42558943706. 3
42558943707. 4

Question Number : 39 Question Id : 42558911230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the wrong statements.

A ‘Brihaspati’ is an open source e-learning platform

B ‘Lekhika-2007" is a program developed by C-DAC
C. ’‘Gyan-Dakshina’ is a bouquet of FM radio channels
D ‘Sakshat Portal” was launched in 2014

E ‘Shruti-Drishti’ is developed for empowering hearing impaired women
Choose the correct answer from the options given below :
(I) A, Band D Only

(2) C, DandE Only

(3) B,CandD Only

(4) A CandE Only

Options :

42558943708. 1

42558943709. 2

42558943710. 3
42558943711. 4



Question Number : 39 Question Id : 42558911230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
A FYAT T hY
A, 'gEEIfa’ WA i 3-SR TeEE € |

B. ‘@fEs-2007" H-E% W fawfaa vom ¥

C. ‘'IA-gigon’ wwud ed =F el & 998 &

D. ‘'wadUEa’ 2014 H g% fEe T ang

E. ‘gfa-gfte’ geo srfva Afeenati o SR & fou fowfaa o m o
= feu U foskedi § | W& I A ¢

(1) oaa A, B3RD

(2) %Fd C, D 3RE

(3) %94 B,C 3R D

(4) oA A, C 3E
Options :

42558943708. 1
42558943709. 2
42558943710. 3
42558943711. 4

Question Number : 40 Question Id : 42558911231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List - 1 List - II
(Output device) (Function)
A. CRT monitor L. Uses a LCD screen to display output
B. Flat-Panel monitor II. Transforms a text document to a physical format
C.  Printer III. Acts as a transmitter
D. Projector IV. Uses an electron beam to ‘paint” a picture

Choose the correct answer from the options given below :
(1) A-IL B-III, C-1V, D-I

(2) A-IV, B-L, CI, D-1II

(3) A-I, B-1V, C-11, D-1

(4) A-I, B-1, C1V, D-II

Options :

42558943712. 1

42558943713. 2

42558943714.3
42558943715. 4



Question Number : 40 Question Id : 42558911231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

it - 1 o1 Gl - 11§ goferd &
= - 1 = -1

( @TrSeqE afa ) (Wt )
A. CRT HifFX I ST3eye =9 % fou ueritet SR ugaa & ©
B. WHdd (WR)-Uel Hifte 1L U% WE-TEEs # ifd wEa ¥ w9t w5 ¥
c. fi= Il UF JEe F =9 8 F9 Fa1 2|
D. TR IV. TF TR 92 331 & e some 49 = 9 & @
= feu T faesredi § 4 W& s A ¢

(1) A-IL B-II, C-IV, D-1
(2) A-IV, B-I, C-I, D-III
(3)  A-II, B-1V, C-II, DI
(4) A, B-I, C-1V, D-II

Options :

42558943712. 1

42558943713.2

42558943714. 3
42558943715. 4

Question Number : 41 Question Id : 42558911232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is teratogenic defect due to chemical agents ?
(I) Bone defect due to exposure to chemicals

(2) Hemoglobin malfunctioning due to chemicals
(3) Bone marrow defect due to chemicals

(4) Birth defect due to utero exposure to chemicals
Options :

42558943716. 1

42558943717.2

42558943718. 3
42558943719. 4

Question Number : 41 Question Id : 42558911232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TEEF 3T & RO oo S #2 §2

(1) T\ Ui SguH % Fro afer €

(2) TEEA % FRO BEIETE SR

(3) Tl % e iy W S

(4) TEEET o g YO IZUEA 3k HE0 T foR/a
Options :

42558943716. 1
42558943717.2
42558943718. 3
42558943719. 4



Question Number : 42 Question Id : 42558911233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Endocrine disruption chemicals :

(1) Stimulate or retard production of hormones
(2) Stimulate enzyme production

(3) Inhibit DNA production

(4) Increase m-RNA sequencing

Options :

42558943720. 1

42558943721.2

42558943722. 3
42558943723. 4

Question Number : 42 Question Id : 42558911233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

sia: @t faerdt W

(1) @I 1 Ieared AT s3egan sTeifed i &
(2) USTEH Ie9red SARE A ©

(3) SITAT Icared HAUTHE i ©

(4) TH-SIRTAY STTHAY S §

Options :

42558943720. 1
42558943721. 2
42558943722. 3
42558943723. 4

Question Number : 43 Question Id : 42558911234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following environment related days in chronological order
A.  World Health Day

B. World Environment Day

C.  Earth Day

D. World Ozone Day

Choose the correct answer from the options given below :

(1) A CBD

2y D,C A B

2y B.DC 5

4 CDAB

Options :

42558943724. 1
42558943725.2
42558943726. 3
42558943727. 4



Question Number : 43 Question Id : 42558911234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A, Tovg wrer feag

B. fova wafaw feag

C. 9= fead

D. fova sirsa feaw

= feu U fosredi | 9 W& I A ¢

(1) A CBD
() D,CAB
(3) B,DC A
(4 CD,A,B
Options :
42558943724. 1
42558943725.2

42558943726. 3
42558943727. 4

Question Number : 44 Question Id : 42558911235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct statements from the following.
A.  Rivers are flowing water aquatic ecosystems
B. Ponds are still water aquatic ecosystems

C.  Streams are shll water aquatic ecosystems

D.  Deltas are brackish water aquatic ecosystems
Choose the correct answer from the options given below :
(1) Aand BOnly

(2) Cand D Only

(3) A, Band D Only

(4) A, Band COnly

Options :

42558943728. 1
42558943729. 2
42558943730. 3
42558943731. 4



Question Number : 44 Question Id : 42558911235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A
B.

C. YR freR 5 steirg wifferfaesy @ €

D. <2 §R[E (EX) S Seidg ariefas 73 €

e fau o fasredi ¥ | Wl s A ¢
(1) o A JARB

(2) @EA C XD

(3) aA A, B3IRD

(4) oREE A, B3R C

Options :

42558943728. 1
42558943729. 2
42558943730. 3
42558943731. 4

Question Number : 45 Question Id : 42558911236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - II :

List - 1 List - 11

(Sustainable Development Goals (SDGs)) (Objective)
A. 8SDG7 L. Clean water and sanitation
B. SDG&6 II.  Good health and well being
C. SDG 3 III. Gender equality
D. SDhG5H IV. Affordable energy

Choose the correct answer from the options given below :
(1) A-IV, B-I, C-II, D-1II

(2) A-1V, B-1I, C-1II, D-1

(3) A-ILL B-IV, C-I, D-1II

(4) Al B-1I C-I, D-IV

Options :

42558943732. 1

42558943733.2

42558943734. 3

42558943735. 4



Question Number : 45 Question Id : 42558911236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

it - 1 o1 Gl - 11§ goferd &
et -1 Tt - 11

(T e wtem (THEST ) (WA= )
A.  THER 7 I s od iR s
B. TUHSMH 6 [I. S8 @R iR @y
C. THEMT3 I <ife S
D. TUHEMSHS5 V. aera/feremad S
= feu o famedi § 9 wE SR A

(1) A-IV, B-I, C-I, D-1II
(2) A-IV, B-II, C-1II, D-1
(3) A-II, B-IV, C-1, D-1II
(4) A-l, B-11, C-I, D-1IV
Options :
42558943732. 1
42558943733.2
42558943734. 3
42558943735. 4
Sub-Section Number : 3

Sub-Section Id : 425589445
Question Shuffling Allowed : No



Question Id : 42558911237 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

Read the following passage and answer the questions :

The reformer must know that what moves people is the authentic life, not mere writing. The
newspaper and journals that Lokmanya Tilak and other reformers ran, the books they wrote, sold
little, but had enormous effect. Their writing was known to reflect and be just an extension of,
their exemplary lives. It was the authenticity of their lives which lent weight to their message, to
their example. All knew that their lives were an integral whole-they were not moral in public life
and lax in private, nor vice versa. They were not full of pious thoughts and scared resolutions
within the walls of a temple.

A writer who is merely entertaining his readers, even one who is merely informing them, can
do what he wants with the rest of his life. But the writer, who sets out to use his pen to reform
public life, cannot afford such dualities. Here is the testimony of one great man about the influence
of another, Lokmanya Tilak.

“I believe that an editor who has anything worth saying and who commands a clientele
cannot be easily hushed. He delivered his finished message as soon as he is put under duress. The
Lokmanya spoke more eloquently from the Mandalay fortress than through columns of the printed
Kesari”.

Sub questions

Question Number : 46 Question Id : 42558911238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

It is the that influences the people more.
(1) reading habit

(2) writing ability

(3) revolutionary life

(4) authentic life

Options :

42558943736. 1

42558943737. 2

42558943738. 3
42558943739. 4

Question Number : 47 Question Id : 42558911239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the context of the passage, a reformer becomes effective if he is a :

(1) Firebrand speaker
(2) An author with an excellent style of writing
(3) Person with consistency in his writing and life style

(4) Reflective thinker
Options :
42558943740. 1
42558943741.2
42558943742. 3
42558943743. 4

Question Number : 48 Question Id : 42558911240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What made Tilak’s writings very effective ?

(1) They were reflective and truly represented his exemplary life
(2) They were full of information

(3) They were critical

(4) They comprised of beautiful phrases and idioms

Options :

42558943744. 1

42558943745. 2

42558943746. 3
42558943747. 4

Question Number : 49 Question Id : 42558911241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the context of passage, Tilak seemed to be :
(I) A great writer

2) An effective teacher

3) A better speaker

(4) A wonderful poet

Options :

42558943748. 1

42558943749. 2

42558943750. 3
42558943751. 4

—

Question Number : 50 Question Id : 42558911242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following words used in the passage is synonymous with the word ‘holy” ?
(1) authentic
(2) exemplary

(3) pious
(4) impure
Options :

42558943752. 1
42558943753. 2
42558943754. 3
42558943755. 4



Question Id : 42558911237 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

et fouw o wwenyr w6 ufew 3w weET % Se Sif

G ol ST =1eq o S Fae oEs § e, afces Wk st | gTfad e © | drear faaes o
S GUTehl A Sl STEeR SR R fepredl, S gedeh Seid foral, 9 o forepl, fofeg 3ert stfaer gerer ge|
ST O, Sk ST Sfia 1 foar 2R 39 gfafafiad sy 9rer T ST 97 | 9 396 siad o] JmTfoesd
off, TS ST T3, 37k 3TV 1 9t Ward T4 1 & 9fi S & o 37 Sfia 90ial § TS 9, 3 FesiTs
St H Hfer qen safaaa shem § faemst 72 9, 7 sHe 3o W o411 3 U e Ander # g o &
ofers Geredi § aftgol = & |

T TR S WES 9 W 1 FARSH 3R T €, Fel 9 % 9% o Faet 3% gfed F @€, S0 et
Sied H 379 TAAS § F@ il F Fehal © | foh=g Freisiiek sied W guR o o 79 el =61 39T SR |l
orEsh U STeY HFes el o191 Tkl © | el Ush HeM <Afad &1 37 & 99 & i H, dika= ook &6, aed
‘ﬂﬁﬁ%:

"1 faverd ® foF U Huree, fSEeh U e Wi Hewqul od © a g 9 qeeke/sarEl ©, 39
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Sub questions

Question Number : 46 Question Id : 42558911238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

98 A1l ©, S W AR e ey sad ¢ |

(1) 9 i aed

(2) TREA AW

(3)  ehifaeprl Sied

(4) U SreM
Options :

42558943736. 1
42558943737.2
42558943738. 3
42558943739. 4

Question Number : 47 Question Id : 42558911239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e 3 e H, T HRe g # & 5 9 U

(1) AT ga e €
2)  SoE oA Yl aren S B ¥
(3) &1 oA SR Sie deit § gonfa aren safe SR

(4) -9 0 areT fa=eE e e |

—

Options :

42558943740. 1
42558943741.2
42558943742. 3
42558943743. 4

Question Number : 48 Question Id : 42558911240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

faerer & e T e | wyreEt 59 9?2

(1) o feaaaes & aen 9t el # 37 sruR Sfe 1 fEfa w9
(2) &g R 4

(3) d 3= 9

(4) I Hol a9l S FEEdl ol STAN g9

Options :

42558943744. 1
42558943745.2
42558943746. 3
42558943747. 4

Question Number : 49 Question Id : 42558911241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TRy % e o, faeer FY v o ¥ 2
(1) TF M o
(2) UF 9uET e
(3) U SEE =

(4) UHF N Hfg
Options :
42558943748. 1
42558943749.2
42558943750. 3
42558943751. 4

Question Number : 50 Question Id : 42558911242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

el § gge Tefertea o | % 9 ves ufes ! w garEEmE § 2

(1)  wTfoTER

(2)  STEHERY

(3) RS

(4) °SRIs
Options :

42558943752. 1
42558943753.2
42558943754. 3
42558943755. 4

History
Section Id : 425589154
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0

Sub-Section Number : 1



Sub-Section Id : 425589446
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 42558911243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following was not a Visnukundin King ?

1. Gopavarman

2. Madhavavarman
2. Govindavarma
4, Devavarman
Options :

42558943756. 1
42558943757. 2
42558943758. 3
42558943759. 4

Question Number : 51 Question Id : 42558911243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfafed § | = faogpi<T Tue 78 @ ?
1. Ti9EEd
2. HHFEHA
3. Tifaadt
4.  SEEHA
Options :

42558943756. 1
42558943757.2
42558943758. 3
42558943759. 4

Question Number : 52 Question Id : 42558911244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Yadavabhyudaya (or the Life of Lord Krishna) was composed by :
i Vedantadesika

2. Ramanujacarya

3. Appayya Diksita

4, Vidya Madhava
Options :
42558943760. 1
42558943761. 2

42558943762. 3
42558943763. 4



Question Number : 52 Question Id : 42558911244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT (S YT F01 1 Siteq) 1 T fhae g1 %1 T8 o ?
1. e

2. THESTEE
ETR ) o B
4. o wivE

Options :

42558943760. 1
42558943761.2
42558943762. 3
42558943763. 4

Question Number : 53 Question Id : 42558911245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which session of the Muslim League invited ‘Ulema’ and gave them public prominence ?
i Calcutta Session, 1912
2. Karachi Session, 1907
3. Delhi Session, 1918
4, Lahore Session, 1940
Options :
42558943764. 1
42558943765. 2

42558943766. 3
42558943767. 4

Question Number : 53 Question Id : 42558911245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
yfeem o % T aifaaem § ' semn’ =t smifa fofan 7o oiv 5= g Hew weE #1172
1. o TF, 1912
2. U HF, 1907
3. fooedl &3, 1918

4. eR 9§, 1940

Options :

42558943764. 1
42558943765. 2
42558943766. 3
42558943767. 4



Question Number : 54 Question Id : 42558911246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

How many businessmen signed on ‘Bombay Manifesto’ (1936) which was an open indictment of Nehru's
preaching of socialist ideas?

1. 18
2 19
3: 20
4, 21
Options :

42558943768. 1
42558943769. 2
42558943770. 3
42558943771. 4

Question Number : 54 Question Id : 42558911246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fera FrranfeEl = e =SeorTs ' (1936) T SXAIE Y 1, Sl eE o GHSErR faErl o ISl ol goll
ST o1 ?

1. 18
2 19
3 20
4. 21

Options :

42558943768. 1
42558943769. 2
42558943770. 3
42558943771. 4

Question Number : 55 Question Id : 42558911247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following places did Shivaji have his mint at ?

1. Ratnagiri
2. Raigarh
3. Poona

4. Konkan
Options :

42558943772. 1
42558943773.2
42558943774. 3
42558943775. 4



Question Number : 55 Question Id : 42558911247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fafafaa o 9 forg T 9v forarsh 1 2o T of 2

1. T

2. 1ATe

3. 9w

4.  FHEW
Options :

42558943772. 1
42558943773.2
42558943774. 3
42558943775. 4

Question Number : 56 Question Id : 42558911248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

How many hill-forts did Shivaji have in his Administrative division, Prant Panhala, corresponding with the
western parts of Kolhapur ?

1. Fifteen
2, Fourteen
3. Thirteen

4, Twelve
Options :
42558943776. 1
42558943777.2
42558943778. 3
42558943779. 4

Question Number : 56 Question Id : 42558911248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

oSt =1 gemieE vIRE W geerel | fohan -7 4, < hicergy & fvast am § feuq 9 2
1. U%E

2. EICE

3. W@

4. 9GR8
Options :

42558943776. 1
425589437717.2
42558943778. 3
42558943779. 4



Question Number : 57 Question Id : 42558911249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to whom is Wasudev Balwant Phadke regarded as the ‘father of militant nationalism in India’ ?
i 8 Sanjeev Sanyal

2. R C Majumdar

3, Vincent Chirol

4, Manmath Nath Gupta
Options :

42558943780. 1

42558943781. 2

42558943782. 3
42558943783. 4

Question Number : 57 Question Id : 42558911249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ook STTUR aTYed ST WeE i ' WRd H swifaewil Tare & SHE ! A a2
1. HsiE g

2. SARH, AYHER
3. fow= feaE

4. T A T

Options :

42558943780. 1
42558943781.2
42558943782. 3
42558943783. 4

Question Number : 58 Question Id : 42558911250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Imperial Bank of India came into existence in the year:

1. 1920
2 1921
3. 1922
4. 1923
Options :

42558943784. 1
42558943785. 2
42558943786. 3
42558943787. 4



Question Number : 58 Question Id : 42558911250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

srdifae o 31w Sfear forg od s o sman?

1. 1920
2 1921
3 1922
4. 1923

Options :

42558943784. 1
42558943785.2
42558943786. 3
42558943787. 4

Question Number : 59 Question Id : 42558911251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following founded the ‘Indian Home Rule Society’ in London?
i Bhikaji Cama

2 SSRana

3. Shyamiji Krishnavarma

4. V D Savarkar
Options :

42558943788. 1

42558943789. 2

42558943790. 3
42558943791. 4

Question Number : 59 Question Id : 42558911251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafay § 9 fraq wiga # 'S 3 w1 Qrradl’ &t T = of 2
1. Tt = mm

2. THUH I

3. YHTHS FHOTEH

4. HI.E. 9ETE
Options :
42558943788. 1
42558943789. 2
42558943790. 3
42558943791. 4



Question Number : 60 Question Id : 42558911252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who was instrumental in arranging a meeting between Rashbehari Bose and Sun Yat-Sen in Japan ?
i 8 Bhagwan Singh

2. Vincent Kraft

3. lyotindra Nath Mukherjee

4, Pramath Nath Gupta

Options :

42558943792. 1

42558943793, 2

42558943794. 3
42558943795. 4

Question Number : 60 Question Id : 42558911252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
S H Trefeert S SR A A6-F % W9 90w F1 el w9 § Heeyy yfasm fems frang off ?
1. YrEH feg
2. oz wR
3. Hifdg 7 gEs
4. gHA T A

Options :

42558943792. 1
42558943793.2
42558943794. 3
42558943795. 4

Question Number : 61 Question Id : 42558911253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which Maratha leader came for rescue during the first Anglo-Maratha war in 1780, when the British decided
to invade Malwa?

1. Mahadji Scindia

2, Daulat Rao Scindia

3. Yashwant Rao Holkar
4, Malhar Rao Holkar
Options :

42558943796. 1
42558943797.2
42558943798. 3
42558943799. 4



Question Number : 61 Question Id : 42558911253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1780 T J9W ATE-TET g5 % SN, i fafest = wreren W smsFaor &1 fofa fomn o, 7@ e mren o
919 % forg s o ?

1. Wewrst e

2. <o UE fEfEE

3. YrEd U9 Bes

4. HEER Td BIehl
Options :

42558943796. 1
42558943797.2
42558943798. 3
42558943799. 4

Question Number : 62 Question Id : 42558911254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A Punjabi weekly in Gurumukhi script named ‘Swadesh Sewak’ was published by:
i Ajit Singh

2. Lala Lajpat Rai

3. Harnam Singh

4, Bela Singh
Options :

42558943800. 1

42558943801. 2

42558943802. 3
42558943803. 4

Question Number : 62 Question Id : 42558911254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e fafg # we e wrarfees ¢ ey gew ' e g weRfve faRe T o ?
1. 7eiq fde
2. el AT T

3. TEmfEe
4. 9en foe
Options :

42558943800. 1
42558943801. 2
42558943802. 3
42558943803. 4



Question Number : 63 Question Id : 42558911255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following nationalist leaders gave the following statement in the Court Trial of 1921, on charges
of sedition ? “India belongs to Indians. We therefore demand Independence... that the British have been
carrying on their despotic rule in our beloved country is obvious to everyone. What law is there that gives
one country the right to rule over another? We demand nothing short of complete Independence. Till we
achieve it, we cannot be at peace.”
i M K Gandhi
2. Lala Lajpat Rai
3. Keshav Baliram Hedgewar
4. Chittaranjan Das
Options :
42558943804. 1
42558943805. 2

42558943806. 3
42558943807. 4

Question Number : 63 Question Id : 42558911255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1921 T IETE & AT W = faemon & 2rA frefafea ® @ frg wgaret A 3 frafafea aam fan
o1 7" A, R 1 € | 374, 9 TGad 1 T A ©..... foh forfee gai e 9w s fgy sed =en
@ €, I8 o1 Tl ST § 1 RS UH FEA © SR U S W 5 <9 W IEE A 6 TSR S € ?
T U A H FH FO T 9Ied § | 59 9% g9 36 I el L oid ©, B9 wifa § e s

1. UH % e

2. el A T

3. 99 FfeR™ EETER

4. faoisHET™

Options :

42558943804. 1

42558943805. 2

42558943806. 3
42558943807. 4

Question Number : 64 Question Id : 42558911256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Regarding the introduction of “Better Government of India Act (1858)" and “Queen’s Proclamation” who
observed that: “In conceptual terms, the British, who had started their rule as ‘outsiders’ became ‘insiders’
by vesting in their monarch the sovereignty of India.”

1, Bernard Cohn

2. Thomas Metcalf

3. Eric Stokes

4. Vincent Smith

Options :

42558943808. 1

42558943809. 2

42558943810. 3
42558943811. 4



Question Number : 64 Question Id : 42558911256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

" yRd TR g STt 1858 % QL TeTvH SR urHRh @ dmon’’ & o) H fea fauqul 7 o
" HepeqToRs W OY, (SRl % T H WA SR R Ao fafee s Uen H ana 1 "9y Hied e
“afiafteR W T A

1. g Hed

2. oY HIHTR
3. e wEE

a. fodz fmy
Options :

42558943808. 1
42558943809. 2
42558943810. 3
42558943811. 4

Question Number : 65 Question Id : 42558911257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following acts incorporated the demands and the aspirations of the free traders, the Benthamite
reformists and Evangelicals?

1; Pitt’s India Act

2 Charter Act of 1813

3 Charter Act of 1853

4, Indian Councils Act, 1892
Options :

42558943812, 1

42558943813, 2

42558943814. 3

42558943815, 4

Question Number : 65 Question Id : 42558911257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefafea & ¥ frg sifufae o gea sof, sod gurerfedi $iX gersfasa w0 w7 & qafae fw
o ?

1. fag 1 sfem w=e

2. oL U 1813

3. et U 1853

4. 9Ny ufteg sfafEm 1892
Options :

42558943812. 1
42558943813.2
42558943814. 3
42558943815. 4



Question Number : 66 Question Id : 42558911258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following started the Arya, the first paper of the Arya Samajin 18827
i 8 Lala Rattan Chand Barry
2. Lala Lajpat rai

3. Lala Hansraj
4. Lala Munshiram
Options :

42558943816. 1
42558943817.2
42558943818. 3
42558943819. 4

Question Number : 66 Question Id : 42558911258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefafaa o 9 fga 1882 O 21 9umet &1 99 TO=ER 93 o1 Ry fEa an?
1. o @A 98 a9
2. N AN 19

3. T €9
4. e qim
Options :

42558943816. 1
42558943817.2
42558943818. 3
42558943819. 4

Question Number : 67 Question Id : 42558911259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following started the weekly Saddharma Pracharak ?
i Lala Lajpat Rai

2. Lala Hansraj

3. Lala Munshiram

4. Pandit Guru Datta
Options :

42558943820. 1

42558943821. 2

42558943822. 3
42558943823. 4



Question Number : 67 Question Id : 42558911259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefefiad o 9 forad greifes SeeH =e I& {6 o917
1. ATl TTs9d T

2. T EETS

3. e HIm

4.  dfsd 7% g
Options :

42558943820. 1
42558943821.2
42558943822. 3
42558943823. 4

Question Number : 68 Question Id : 42558911260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which historian wrote the following about the revolt of 1857? “The miseries and the bloodshed of 1857-58
were not the birth-pang of the freedom movement in India, but the dying groans of an obsolete autocracy
and centrifugal feudalism of the medieval age.”

i 8 R C Majumdar

2. S B Chaudhuri

3. K K Datta
4, SN Sen
Options :

42558943824. 1
42558943825.2
42558943826. 3
42558943827. 4

Question Number : 68 Question Id : 42558911260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1857 % fagie % an ¥ form sfaerasn 3 @7 fomn a1 ?
**1857-58 I THAIEAT SR TRUM WA H WAl sfisior & Sl ol o, TR stamEiieR g S
e SHa A FEE Hde & WomH= #ee 41"

1. SR AIRER

2. TH A

3. FF T

4. THTAEA
Options :

42558943824. 1
42558943825. 2
42558943826. 3
42558943827. 4



Question Number : 69 Question Id : 42558911261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In his autobiography, Mahatma Gandhi described the magic spell of this book on him: “| rose with the dawn,
ready to reduce these principles into practice.”
1. Leo Tolstoy's The Kingdom of God is within You
2 John Ruskin’s Unto This Last
3, Howard Williams’s The Ethics of Diet
4, Henry Sumner’s Village Communities in the East and West
Options :
42558943828 1
42558943829. 2

42558943830. 3
42558943831. 4

Question Number : 69 Question Id : 42558911261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T ST | el e 270 W 39 T I WGE 99T 39 YER G wa € ;o ot | 3, ofn
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1. ford dremara w1 & ren &E e 39 faeza g

2. S WA w0 e fo o

3. gae fafemm =i i3 i & ene

4. T R % fow effea it e dg aw

Options :

42558943828. 1

42558943829. 2

42558943830. 3
42558943831. 4

Question Number : 70 Question Id : 42558911262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“Good men’s friendship is like the beauty of a good book. It does not lose its freshness, but gives increased
pleasure every day, just as with deeper study one derives enhanced pleasure from book.” The writer of this

maxim is -
i Kautilya in the Arthashastra
2. Vishnu Sharma in the Panchtantra

3. Vyasa Vaishampayana in the Mahabharata

4, Tiruvalluvar in the Tirukkural
Options :

42558943832. 1

42558943833.2

42558943834. 3

42558943835. 4



Question Number : 70 Question Id : 42558911262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
"o =g i fsan fordt S geaeh <t Gt & 9aE €1 98 ST arert e Wit €, afes gels TeRa
T = W19 =l 1FE YSH Ll ¢, T5 YehR T8 s1eada § en fohdl g5k 4 sifvafia stHe ara s g 1
%9 FeEd F o § ?

1.  SU9E H Hifeed

2. Yoas H foou g

3. WHEMRA H A" J9Ed

4. Toesgue ¥ faeaeaer
Options :

42558943832. 1
42558943833. 2
42558943834. 3
42558943835. 4

Question Number : 71 Question Id : 42558911263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ramanujacharya’s commentary on the Vedantasutras, which propounded the philosophy of Visistadvaita, is
called:

1 Vedantasara
2. Sribhasya
3. Brahmasutrabhasya

4, Anuvyakhya

Options :

42558943836. 1
42558943837.2
42558943838. 3
42558943839. 4

Question Number : 71 Question Id : 42558911263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Iefag W s #i e, fora fafererda gu i ufaofed foran, s e 2
1. SRTER

2. A9

3. TRgATS

4.  STAEA
Options :

42558943836. 1
42558943837.2
42558943838. 3
42558943839. 4



Question Number : 72 Question Id : 42558911264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who among the following authors wrote the book titled, ‘Foreign Notices of South India’?
i 8 TV Mahalingam
2., K A N Sastri

3. R Caldwell
4. KK Pillay
Options :

42558943840. 1
42558943841.2
42558943842. 3
42558943843. 4

Question Number : 72 Question Id : 42558911264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefafea & ¥ fog oras 3 Wi Aifeds 7w ey e’ =m 4 g foawt of ?
1. & o Hela™
2. T T

3. R HeSad
4. & F ii:lvtﬁg
Options :

42558943840. 1
42558943841. 2
42558943842. 3
42558943843. 4

Question Number : 73 Question Id : 42558911265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The neolithic site of T. Narsipur is located in which of the following states?
i Andhra Pradesh

2. Madhya Pradesh

3. Karnataka
4, Tamil Nadu
Options :

42558943844. 1
42558943845.2
42558943846. 3
42558943847. 4



Question Number : 73 Question Id : 42558911265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T Teret A, TR Frefefe § § g o § faga €2

1. A IE

2. HHAYRY

3. HAREH

4.  AAETE
Options :

42558943844. 1
42558943845.2
42558943846. 3
42558943847. 4

Question Number : 74 Question Id : 42558911266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following Rock Edicts of Ashoka mentions about the conguest of Kalinga?
i Rock Edict VII

2. Rock Edict VIII

3. Rock Edict Xl

4, Rock Edict Xl
Options :

42558943848. 1

42558943849. 2

42558943850. 3
42558943851. 4

Question Number : 74 Question Id : 42558911266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a1emeR & frefatas § 9 g foemers o sfcn fosm 1 e €2

1. @@ v
2. T e v
3. foren @ X
4. foren <@ X
Options :

42558943848. 1
42558943849.2
42558943850. 3
42558943851. 4



Question Number : 75 Question Id : 42558911267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who was the author of the Sanskrit drama, Svapnavasavadatta?

1. Kalidasa

2. Bhavabhuti

32, Bhasa

4, Bharavi
Options :

42558943852. 1
42558943853.2
42558943854. 3
42558943855. 4

Question Number : 75 Question Id : 42558911267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HEhd A2 TAGEaEdl o o A 97

1.  hlfoe™

2. YEyfa

3. 99

4.  YEf9
Options :

42558943852. 1
42558943853. 2
42558943854. 3
42558943855. 4

Question Number : 76 Question Id : 42558911268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Udayana, the contemporary of Buddha, belonged to which of the following dynasties?
1. Bharata

2., Vatsa
3, Jantrika
4, Kuru
Options :

42558943856. 1
42558943857.2
42558943858. 3
42558943859. 4



Question Number : 76 Question Id : 42558911268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

5 & HFHCE, 3594 THferfad H § forg Tseie § geifea 972

1. i
2; E R
3. SR
4. I
Options :
42558943856. 1

42558943857.2
42558943858. 3
42558943859. 4

Question Number : 77 Question Id : 42558911269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
According to the Arthashastra, the Kupyadhyaksha was in-charge of which of the following?

i Irrigation work
2. Well and Canal networks
3. Forest Produce

4, Embankments
Options :

42558943860. 1
42558943861.2
42558943862. 3
42558943863. 4

Question Number : 77 Question Id : 42558911269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ao F TR, FoaAeay Frefafad § | freem gt o1 ?

1. fH=E s
2. FU SR TR gorred
3. 99 3dE
4. TeaY
Options :

42558943860. 1
42558943861. 2
42558943862. 3
42558943863. 4



Question Number : 78 Question Id : 42558911270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Harishchandrakavyam of Raghavanka was written in which language?

i Prakrit
2. Pali

3. Bengali
4. Kannada
Options :

42558943864. 1
42558943865. 2
42558943866. 3
42558943867. 4

Question Number : 78 Question Id : 42558911270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 1 sl@r=gerean g am § fafea &2

1. WA
2. Oife
3. @
4. &S
Options :

42558943864. 1
42558943865. 2
42558943866. 3
42558943867. 4

Question Number : 79 Question Id : 42558911271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who was the author of the Mahabhasya?
1. Gautama
2. Vajapyayana
3. Patanjali
4. Katyayana
Options :
42558943868. 1
42558943869. 2

42558943870. 3
42558943871. 4



Question Number : 79 Question Id : 42558911271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HeTYr] =] Tideh H 91 7

1. TeH

2. FSUEE

3. e

4.  SHAEA
Options :

42558943868. 1
42558943869. 2
42558943870. 3
42558943871. 4

Question Number : 80 Question Id : 42558911272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following are not included in the seven books (Sattapakaranas) of the Abhidhamma Pitaka?
i Dhammasangani
2. Kathavatthu
3. Puggalapannatti
4. Mahaniddesa
Options :
42558943872. 1
42558943873. 2

42558943874.3
42558943875. 4

Question Number : 80 Question Id : 42558911272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Frefferfiaa & @ S T s e 91 W TR (TR § e w8
1. YEEEE

2. FUEH

3. gErA=AI
4.  WEHgeW

Options :

42558943872. 1
42558943873. 2
42558943874. 3
42558943875. 4



Question Number : 81 Question Id : 42558911273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What does the word ‘Sondhar’ refer to?

i Bank

2. Merchant Community
3. Agricultural Loan

4. A Rank
Options :

42558943876. 1
425589438717.2
42558943878. 3
42558943879. 4

Question Number : 81 Question Id : 42558911273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

b o 1 15 e i =3 et -0

1. ¥

2. SRS 9HEE

3. HUE"

4. /e
Options :

42558943876. 1
42558943877.2
42558943878. 3
42558943879. 4

Question Number : 82 Question Id : 42558911274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The word Kamin, Mahin, Kirpas and Khana Chhaap are associated with which of the following?
i Jewellery

2. Indigo
3. Textiles
4. Jute
Options :

42558943880. 1
42558943881.2
42558943882. 3
42558943883. 4



Question Number : 82 Question Id : 42558911274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

&g FHME, HeM, T 3R @ 3 fefafes o § feag gefta €27

1. 2myEo
2. HE
3. 94
4.  SR/REA
Options :

42558943880. 1
42558943881.2
42558943882. 3
42558943883. 4

Question Number : 83 Question Id : 42558911275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following mentions about Deva Raya Il that: “This latter Prince has in his dominion three
hundred ports, each of which is equal to Calicut...”?

i B Nuniz
2 Domingo Paes
3. Nicollo Conti

4, Abdur Razzaqg

Options :

42558943884. 1
42558943885. 2
42558943886. 3
42558943887. 4

Question Number : 83 Question Id : 42558911275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frfafea & | 9 &3 1@ 1 & 91§ 3o w1 € & 58 yvEred TSgER F HEaneE ffF 9@ e
o, {9 9 e wiciiene o Saed 91 ... "' ?

1

2. Erfafm aug

3. Ty #=t

4. ST TSR
Options :

42558943884. 1
42558943885.2
42558943886. 3
42558943887. 4



Question Number : 84 Question Id : 42558911276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

During the reign of which of the following rulers the famous work on Music, ‘Tuhfat-ul-Hind’ was composed?
i 8 Aurangzeb

2. Akbar

3. lahangir
4, Baji Rao-|
Options :

42558943888. 1
42558943889. 2
42558943890. 3
42558943891. 4

Question Number : 84 Question Id : 42558911276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefafas ® 9 g s & weee § g@iia favas gfag w9 Y qewn-sa-fEe’ =1 = &1 78 o ?
1. e

2 Hehal

3. RN

4. @ERE - |
Options :

42558943888. 1
42558943889. 2
42558943890. 3
42558943891. 4

Question Number : 85 Question Id : 42558911277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ganj-i-Sawai was a:

i 8 A large battle tank

2. Fort

32, Ship

4, Market established by Sawai Raja Jai Singh
Options :
42558943892. 1
42558943893. 2

42558943894. 3
42558943895. 4



Question Number : 85 Question Id : 42558911277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TS —G-FeTE o o417
1. TF foume g3 &F
2. e

3. SEN/dE
4. TaR e 59 foe gr wenfud e

Options :

42558943892. 1
42558943893. 2
42558943894. 3
42558943895. 4

Question Number : 86 Question Id : 42558911278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following city’s name was changed to Sultanpur by Muhammad bin Tughlag?
i Warangal

2, Devgiri

3. Mysore

4, Madurai
Options :

42558943896. 1
42558943897.2
42558943898. 3
42558943899. 4

Question Number : 86 Question Id : 42558911278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Hewrg fo orere gm0 Frfarfaa W 9 fore Srex o T Feereht gearqe foan 7@ o1 ?
1. 9E
2. <anmwl
3. W
4. W

Options :

42558943896. 1
42558943897.2
42558943898. 3
42558943899. 4



Question Number : 87 Question Id : 42558911279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Firuz Shah Tughlag developed Dar-us-Shafa in Delhi for which purpose?

i 8 Disbursement of agricultural loans
2. Free treatment for all
3. Complaint against the local administrator

4, Regulating conduct and behaviour

Options :

42558943900. 1
42558943901. 2
42558943902. 3
42558943903. 4

Question Number : 87 Question Id : 42558911279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
forirst wme qirerer A faoetl H gR-39-3rw =1 fasm forg warsH & forar o1 ?
1. Y = = e
2. A % fau .30 3TER
3. T 9T o faeg feREa
4. SR SR SHEER fEE0 % fou

Options :

42558943900. 1
42558943901.2
42558943902. 3
42558943903. 4

Question Number : 88 Question Id : 42558911280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What was the name of the operation carried out by the Indian forces in September 1948 to restore peace
and tranquility in Hyderabad?
1. Operation Meghdoot
2. Operation Cactus Lily
3 Operation Polo
4, Operation Vijay
Options :
42558943904. 1
42558943905. 2

42558943906. 3
42558943907. 4



Question Number : 88 Question Id : 42558911280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TeTETE 1 wifa 377 2199 Ferel o foau foder 1948 H RETE 91 510 el fohT 7T SIS 1 920 91 o 2
1. ST9EH HEgd
2. AT FEey fafa
3. S gl
4. A faeg
Options :
42558943904. 1
42558943905. 2

42558943906. 3
42558943907. 4

Question Number : 89 Question Id : 42558911281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following ‘Yajna’ is not considered a ‘Mahayajna’?

1. Vajapeya
2. Brahma
3. Deva

4. Pitra
Options :

42558943908. 1
42558943909. 2
42558943910. 3
42558943911. 4

Question Number : 89 Question Id : 42558911281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafes #§ 4 A 93" & P aeEs’’ T8 1 S e 2

-

1. A

2. EE

3. @@

4. fog
Options :

42558943908. 1
42558943909. 2
42558943910. 3
42558943911. 4



Question Number : 90 Question Id : 42558911282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What are the Satavahanas called in the Puranas?

1, Satakarni
2. Andhras
3. Parasurama

4, Salivahanas
Options :
42558943912. 1
42558943913.2
42558943914. 3
42558943915. 4

Question Number : 90 Question Id : 42558911282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T H WTAeTEH o1 S el T © ?
1. Hawdi
2. ™
3. TWEEH
4.  Wrfcremsd
Options :

42558943912. 1
42558943913.2
42558943914. 3
42558943915. 4

Question Number : 91 Question Id : 42558911283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following events associated with the Cholas in chronological order :
The Rajarajesvara temple was built at Tanjavur.

Rajendra was intalled as Yuvaraja.

Rajendra ordered his army to invade the western Chalukyas.
Madurai became the headquarters of the new Chola viceroyalty.
Rajendra led the war against Srivijay.

Choose the correct answer from the options given below:

i A, B,CD,E

2. B,C,ADE

3. C,A BDE

4. B,A DCE
Options :

42558943916. 1

42558943917.2

42558943918. 3
42558943919. 4

monwr®



Question Number : 91 Question Id : 42558911283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=il | Hafyd Fefafad J2asil &1 FesmArTar ared |

A TERSTeR Hfe e # o= T

B.  USI= oI gas 3gEfua fokan e |

C. TS A U B ] U Sl W SERH i H SRy T |
D. WS M el SHME (SREIFEE) & HEATed o4 41|

E. Wig A difasa o favs g6 o1 g foa

= fou Ty fosredi # | W& I T ¢

1. A BCDE
2. B,C,A,DE
3. C,A BDE
4. B,A,D,CE
Options :
42558943916. 1
42558943917.2
42558943918. 3
42558943919. 4

Question Number : 92 Question Id : 42558911284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in chronological order:

Setting up of Hindu Balika Vidyalaya in Calcutta.
Setting up of Lahore University College.

Indian Universities Act.

Setting up of Hunter Commission.

Founding of the Allahabad University.

Choose the correct answer from the options given below:
L, B,A DEC

2. B,AEDC

3. A,B,ED,C

4. A, B, DEC

monwrP

Options :

42558943920. 1
42558943921.2
42558943922. 3
42558943923. 4



Question Number : 92 Question Id : 42558911284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

feferiiaa =l HICTRHTITHR SHafeed & |

A, okl § feg anforen feramerd =i wmg |
B. eR favafaanea sicrs sf L9 |

c. yrdE favafaerea sifufam |

D. BT AN I T

£ zomeER favafamres # e

=1 fou o fosredi § 9 W& 3T T ¢

1. B,A,D,EC
2. B,AEDC
3. A BEDC
4. A BDEC
Options :
42558943920. 1
42558943921.2
42558943922. 3
42558943923. 4

Question Number : 93 Question Id : 42558911285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following events in chronological order:
Congquest of Sind.

Second Anglo-Burmese war.

Annexation of Oudh.

Second Anglo-Sikh war.

Annexation of Coorg.

Choose the correct answer from the options given below:
L, E,ADBC

2. A, E, D B,C

3. AE,BCD

4. E,A,B,CD

monOw>rP

Options :

42558943924. 1
42558943925.2
42558943926. 3
42558943927. 4



Question Number : 93 Question Id : 42558911285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfafiaa se1sii s FeraTaR et &1 |

A fay fasm

B. Tgdia sifren-=mi g5

C.  aY oI ST

D. Tgdma sa-faaae 93

E. o = SRR

=1 fou o fosredi § 9 W& 3T = ¢

1. E,A, D B,C
2. AEDB,C
3. AEBCD
4. E,A,B,C,D
Options :
42558943924. 1
42558943925.2
42558943926. 3
42558943927. 4

Question Number : 94 Question Id : 42558911286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following events of 15th century in chronological order :
Abdur Razzaq comes to India.

Transfer of Bahmani Capital from Gulbarga to Bidar.
Birth of Guru Nanak.

Foundation of Jodhpur.

Nicolo Conti visits Vijayanagar.

Choose the correct answer from the options given below :
L, A, B, CD,E

2. B,E,ACD

3. E,A B,CD

4. E,B,A,DC

monOw>rP

Options :

42558943928. 1
42558943929.2
42558943930. 3
42558943931. 4



Question Number : 94 Question Id : 42558911286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

15 of vrTest i FrAfafad T2l 1 FIEFATTaR sSAafeed &1 |
A TG H WA A

B.  WEHAT TS o1 e | sfiey gxaia<ol
C. % AR T

D. ST HT T

E. TIehiell st ot s/ amn

= fou Ty fosredi # | w8 I T ¢

1. A BCDE
2. B,E,A,C,D
3. E,A, B, C, D
4. E,B,A DC
Options :
42558943928. 1
42558943929.2
42558943930. 3
42558943931. 4

Question Number : 95 Question Id : 42558911287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following activities of the European Commercial enterprises in India in chronological order :
The English established a fatory at Masulipatanam.
First English factory at Surat.

The English factory started at Hugli.

The Dutch open a factory at Pulicat.

The Dutch established a factory at Surat.

Choose the correct answer from the options given below:
L, A D,ECB

2. D,A B,EC

3. B,A CD,E

4. C,A DEB

monOw>rP

Options :

42558943932. 1
42558943933.2
42558943934. 3
42558943935. 4



Question Number : 95 Question Id : 42558911287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YRa W gAdrE aforfsaer 3umi sk fefataa nfafafei & FresraTar sgaferd &1 |

A HEETYZAH H SHUS g FEH T
B. A H UYH US FR@M ARY

C. TEl H 3N wREM SRY

D. Ycithe H 9 HREM Eidl Sl

E. YW@ W =9l g hREH Thd
%mmﬁmﬂﬁﬂﬂwgﬁ

1. A DECB
2. DA BEC
3. B,A,C,DE
4. C,ADERB
Options :
42558943932. 1
42558943933.2
42558943934. 3
42558943935. 4

Question Number : 96 Question Id : 42558911288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the followng events of Akbar’s reign in chronological order:
Invasion of Khandesh.

First Jesuit mission at Agra.

Foundation of Fatehpur Sikri.

Fitch arrives at Agra

Annexation of Kashmir.

Choose the correct answer from the options given below:
L, A, B CD,E

2. B,C, D AE

3. AECDB

4. C,A B DE

monwrP

Options :

42558943936. 1
42558943937.2
42558943938. 3
42558943939. 4



Question Number : 96 Question Id : 42558911288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SFA & AR ] FEAfcrEd T2A1sll Fl HIAFATER Hareed = |

A, T I SABHAT

B. HNIH 9gH SHze fave

C.  RAdeql T I T

D. = H fFg & A

E. hyHR o sfemem

=1 fou o foskedi § 9 W& 3T T ¢

1. A BCDE
2. B,C,D,AE
3. AECDB
4. C,A BDE
Options :
42558943936. 1
42558943937.2
42558943938. 3
42558943939. 4

Question Number : 97 Question Id : 42558911289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the visit of the following European travellers to India in chronological order:
John Mildenhall

William Finch

Ralph Fitch

Thomas Coryat

Jean Baptiste Tavernier

Choose the correct answer from the options given below :
L, C,A,BED

2. C,A B DE

3. AECDB

4. A E B,DC

monwrP

Options :

42558943940. 1
42558943941.2
42558943942. 3
42558943943. 4



Question Number : 97 Question Id : 42558911289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

yra H fefafad guda D &1 arsnsl & Fesws | sared i

A w1 fueedea

B. fafaaw fF=

c. TF =

D. oHH FAR

E. S sufasd dafer

=1 fou o fosredi § 9 W& W = ¢

1. C,A BED
2. C,A BDE
3. AECDB
4. A EBDC
Options :
42558943940. 1
42558943941.2
42558943942. 3
42558943943. 4

Question Number : 98 Question Id : 42558911290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Arrange the begining of the following newspapers in chronological order :

A. Indian Opinion
B.  Abhyudaya

C. The Leader

D. Young India

E.

Indian Sociologist

Choose the correct answer from the options given below :
1. A E,C,B D

2 A E,BCD

3. A,B ECD

4. E,A B,CD

Options :

42558943944. 1

42558943945, 2

42558943946. 3
42558943947. 4



Question Number : 98 Question Id : 42558911290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frafafiaa TRm=RYEl i &3 i Hieshd | Hafeed #i

A Efema srdfra

B. 31

c. o=

D. I EfeAn

£ sfemm aifvEmEitae

= feu o faskredi H 9 W& I T ¢

1. AECB,D
2. AEBCD
3. A BECD
4. E,A,B,C,D
Options :
42558943944. 1
42558943945.2
42558943946. 3
42558943947. 4

Question Number : 99 Question Id : 42558911291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the introduction of the following changes in chronological order :

A. The number of additional members in the Governor General’s Council shall not be less than 10, and
not more than 16.

English Parliament recognised the East India Company as the sovereign political authority in the colony.
Chief Justice of the Supreme Court was included as a member of the Indian Legislative Council.
The title of the Emperor of India was conferred on the Queen.

Parliament asserted its authority over the activities of the East India Company.

Choose the correct answer from the options given below:

1; E,AB,CD

2 B,E CDA

3. E,B,D,C A

4. E,B,C,D, A
Options :

42558943948, 1

42558943949, 2

42558943950. 3
42558943951. 4

moon®



Question Number : 99 Question Id : 42558911291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frfafiaa aiEddl & GAuT 1 FIARHTHR SHared Fi |
A TER A 1 IR § afafEa T i '@ 10 | W FE 8, 2R 16 9 safees T8 2 |
B. Efierer §ug A $2 sfean st ol Ul § Huy Usifaes WfeeRrl 1 A 9eH i |
C. Twa¥ AMGE % Y& =AY i War AUt aiug § 9ee o ®9 i o T o
D. HERF &1 WRA i WTHEN 1 S WeH &l T8 o |
E. HEE ¥ 32 3fem vl o ferameemdl W wifeerr = fafafdse faman em
= feu o foskredi H 9 W& I T ¢
1. EABCD
2. BECDA
3. EB,DCA
4. EB,C, DA
Options :
42558943948. 1
42558943949. 2

42558943950. 3
42558943951. 4

Question Number : 100 Question Id : 42558911292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in chronological order :
Mitra Mela

Abhinav Bharat

Midnapur Society

Anushilan Samiti by Satish Chandra Basu
Dacca Anushilan Samiti.

Choose the correct answer from the options given below:
L, A C D,B,E

2. A,B,CD,E

3. ADCB,E

4. A E,B,CD

monOw>rP

Options :

42558943952 1
42558943953.2
42558943954. 3
42558943955. 4



Question Number : 100 Question Id : 42558911292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefefias =l IR Hareed Fi |
A T Hen

B. 9T y@

c. THeATR drErEd

D. WYl =g &g BRI ST |iHfd
E. @R STuiied Siafa

= fou Ty fosredi # | W& I T ¢

1. A CDBE
2. ABCDE
3. A DCBE
4. A EBCD
Options :
42558943952. 1
42558943953.2
42558943954. 3
42558943955. 4

Question Number : 101 Question Id : 42558911293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following events related with Ryotwari Settlements in chronological sequence :
Introduction of a reformed system in Madras with 30 years settlement.
Ryotwari experiment in Baramahal.
Begining of Ryotwari system in Bombay Presidency.
Madras torture Commission Report.
Land survey undertaken by R K Pringle.

Choose the correct answer from the options given below :

1. B,C,D AE

2. B,C,ED,A

3. B,C,EAD

4. B,C,D,EA
Options :

42558943956. 1

42558943957. 2

42558943958. 3
42558943959. 4

monw>>



Question Number : 101 Question Id : 42558911293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Aardl seee | Hatud freAfafaa semell @1 sersEnrgEr st |

A WEME ¥ 30 99T SEEE & W1y U g8 guel 1 gAu
B. @gMsd W {Faarsl YANT

C. @ JHISH! H Faarel T i YEea

D.  WEIH Icdred SN yderad

E. R TYver g foran wran yf| waam

= feu o fomredi o 9 W& 3T A ¢

1. B,C,D,AE
2. B,C,E,D A
3. B,.C,E,A D
4. B,C,D,E A
Options :
42558943956. 1
42558943957.2
42558943958. 3
42558943959. 4

Question Number : 102 Question Id : 42558911294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following events that took place during the Palarule in chronological order.
Palas led campaign against Kalinga and Kamarupa.
Construction of the famous temple of Gadadhara by the Palas.

Establishment of Vikramshila University by the Palas.

Grant of five villages by the Palas for the monastery built by the king of Suvarnadvipa.
Palas led an army campaign against the Kaivartas.

Choose the correct answer from the options given below:

L, A, B CD,E

2. B,C, D, E A

3. C,D,B,EA

4. D,B,E,AC
Options :

42558943960. 1

42558943961. 2

42558943962. 3
42558943963. 4

monwrP



Question Number : 102 Question Id : 42558911294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I IMEASHA H gz TrAfafad SRSl Fl FIashHTER Safeyd = |
A el A e IR FmEy * favg afyam = |

B. &l gRI YfEg TIETeR Hig =1 fAmion|

c. Ul g fasraeien favafaemers &1 T |

D.  HAEY & TN 3R FAfefd faer % fore wrelt gry = TIe 1 S |
E. U A el % foss §=1 sfar &1 g fon

=1 fou o fosredi § 9 W& 3T = ¢

1. A B:G.DE

2. BCDER

3. CD,BEA

4 DBEAE
Options :

42558943960. 1

42558943961. 2

42558943962. 3
42558943963. 4

Question Number : 103 Question Id : 42558911295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following Paramara rulers in chronological order of their rule:
Siyaka- Harsa

Sindhuraja

Krishnaraja

Vakpati-Munja

Bhoja

Choose the correct answer from the options given below:
L, A, B, D,CE

2. B,ADCE

3. C,A DBE

4. B,D,C AE

mon0w>rP

Options :

42558943964. 1
42558943965. 2
42558943966. 3
42558943967. 4



Question Number : 103 Question Id : 42558911295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfafiaa TER e Fl 376k IMHAEE & TR HIRATTEN SHaedd Hi |

A Tommer - wd

B. fayus

C.  FOUE

D.  dERUd - g

£ o

= feu o faskredi W 9 W& I T ¢

1. A BDCE
2. B,A,D,CE
3. C,ADBE
4. B,D,C,AE
Options :
42558943964. 1
42558943965. 2
42558943966. 3
42558943967. 4

Question Number : 104 Question Id : 42558911296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following organizations in chronological order which were formed between 1876 to 1885 :
Poona Sarvajanik Sabha
Indian Association
Mahajan Sabha
Bombay Presidency Association
Indian League

Choose the correct answer from the options given below :
1. AE BCD

2. AE,CB,D

3. E,A BCD

4 A E,B,DC
Options :

42558943968. 1

42558943969. 2

42558943970. 3
42558943971. 4

monw>>



Question Number : 104 Question Id : 42558911296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfeafiaa Hmei 1 1876 ¥ 1885 % = Tf3d fohT M o STTER Hlefhy U HAfEdd &l |

A, Y HEEE 9

B. =fegd waifauem

C. e |9l

D. @ YHISHr TEfauyE

£ sfema &m

=1 fou o fosredi § 9 W& 3T T ¢

1. A EBCD
2. AECB,D
3. E,A, B, C, D
4 A EBDC
Options :
42558943968. 1
42558943969. 2
42558943970. 3
42558943971. 4

Question Number : 105 Question Id : 42558911297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following organizations in chronological order :
Paramhans Mandli

Advaita Sabha of Kumbakonam

Arya Samaj

Prarthana Samaj

Rahnumai Mazdayashan Sabha

Choose the correct answer from the options given below:
L, A, B CD,E

2. B,E CD, A

3. A, B,CED

4. A E,DC,B

mon0w>rP

Options :

42558943972. 1
42558943973.2
42558943974. 3
42558943975. 4



Question Number : 105 Question Id : 42558911297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frafeafiaa Hmei 1 FTeFTTaR sHafed $i |

A, TUEH HEdl

B. TSIV [ ST5d Wl

C. AFHus

D. e |

E. @A HeREEd 99l

=1 fou o fosredi § 9 W& 3T T ¢

1. A BCDE
2. B,E,C,D A
3. A BCED
4. A EDCB
Options :
42558943972 1
42558943973.2
42558943974. 3
42558943975. 4

Question Number : 106 Question Id : 42558911298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is correct about Indian Councils Act of 1861 ?
A.  The number of the ordinary members of the Governor-General Council was raised to five.
B. For purpose of legislation, the Governor General’s Council was reinforced by additional members, not
less than six, not more than twelve in number.
C.  Any legislation could be introduced in the Legislative Council.
D. The Governor General was to have the powers, in cases of emergency, to pass without his Council,
ordinances which would be valid for not more than six months.
E. No act passed by the Legislative Council would be valid unless it received the consent of the Governor
General.
Choose the correct answer from the options given below:
1. A,B,C DOnly
2. AB,D,EOnly
3. A,C, B, DOnly
4. A,B,C EOnly
Options :
42558943976. 1
42558943977. 2

42558943978. 3
42558943979. 4



Question Number : 106 Question Id : 42558911298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR uftag sifafTam 1861 &% ai ® fafarfaa § | #1990 e w9 €2

A TER-SE 9NE % WO GEE 1 HEA age 9id &l T |

B. faumd & foTu e SR =i 9iug # 8% | *¥ fohi 9e ¥ &ifbs 989 g M|

C. i off fauae faumd uftug & waga &0 51 9l of |

D. &R STE T AT H S 9Rug i eHia o o ey S & i wifed o, et aum
Aoy 2 HIE a9 o |

E. TER SR &1 srgufa ara fe famn faumd ufg grn wita 8 off wae ay ==& e

e feu o oo § | Wl S T ¢

1. AT A, B,C,D

2. FIAA,BD,E

3. FFdA,CB,D

4. FAAA,B,C,E

Options :

42558943976. 1
42558943977. 2
42558943978. 3
42558943979. 4

Question Number : 107 Question Id : 42558911299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which amomg the following are true regarding the Indigo disturbances at Nadia, Murshidabad and Pabna in
18597

A. Event witnessed the intervention of educated middle class and few European missionaries.
Dinabandhu Mitra’'s famous play Neel Darpan was inspired by the plight of indigo peasants.
Neel Darpan was translated into English by Michael Madhusudan Dutt.
Rev. James Long published the English version of Neel Darpan by Michael Madhusudan Dutt.
Newspapers like Som Prakash and Hindu Patriot never touched upon the issue related to Indigo
peasants.

Choose the correct answer from the options given below :

1 A, B, C, DOnly

2 A, B, C, EOnly

3. A,C, D, EOnly

4. B, C, D, EOnly
Options :
42558943980. 1
42558943981. 2

42558943982. 3
42558943983. 4

m: g nm



Question Number : 107 Question Id : 42558911299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfafiaa # § F78 FoA 1859 § e, gfgar & gra # gu v fode & dau § 9 §7
A 3o forfer wer o SR Fe g Tovmfe 1 swd Sea = foen o)

B. SrHsiY TiTs =1 WA 39 Hiel g9V, il FREHI skl gaen | Ui o

C. T WYHE TGN el g4 R SIS H e foRan e o

D. Y& S W | WIghe HYEEA TH % Al U1 3 TS STarE 1 GRvH T |

£ Em yem iR feg Sfoue S wnrends A e fEar | S qeg &1 e ot 7 gen
A fou o foredi 9 O 3 A ¢

1. SIdA, B,C,D

2. FFAA,B,CE

3. FFAACD,E

4. FIAB,C D, E
Options :

42558943980. 1
42558943981. 2
42558943982. 3
42558943983. 4

Question Number : 108 Question Id : 42558911300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are correct ?
Medhatithi wrote on law.
Sarangdhara wrote on grammar.

Bhoja wrote on astronomy and politics.
Bhattotpala wrote on astrology.
Sridhara wrote on Mathematics.
Choose the correct answer from the options given below :
i A, B, C,DOnly

2. A, B, D, E Only

3. A,C,D,EOnly
4. B, C, D, EOnly

monwrP

Options :

42558943984. 1
42558943985.2
42558943986. 3
42558943987. 4



Question Number : 108 Question Id : 42558911300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa § 9 SR8 T €2

A wenfaeft 9 fafy w fomn

B. TR A SR W o

c. ¥ A wEefeRn SR TeEid o formr |
D. WZ2eU™ | EeasH W fomn |
E. 4R A o W feman

=1 fou o foskedi § 9 W& W = ¢
1.  FIAA,B,C D

2. FFAA,BD,E

3.  FFAA,CD,E

4. FIAB,C D,E
Options :

42558943984. 1
42558943985. 2
42558943986. 3
42558943987. 4

Question Number : 109 Question Id : 42558911301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct ?
Vishnugopa was a Pallava King.
Kirtivarman was a Chalukya ruler
Yasovigraha was a Kalchuri king

Indra was a Rashtrakuta king
Simhavishnu was a Pallava King

Choose the correct answer from the options given below :
L, A,B,C, DOnly

2. B,CD,EOnly

3. A, B, D, E Only

4. AC D EOnly

mon0w>rP

Options :

42558943988. 1
42558943989. 2
42558943990. 3
42558943991. 4



Question Number : 109 Question Id : 42558911301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafea § 4 99 2 99 €2
A, Tooopig us goord WS A

B.  hifdemid Uk AT ITE o |
C.  HSNIeE Toh ool T o]
D. 3% U Ucgehe U= 11

e Towefem T gooe s an )
=1 fou o fosredi § 9 W& 3T T ¢
1. IdA, B,C,D

2. FFAB,CD,E

3. FIAA,BD,E

4. FEAACD,E

Options :

42558943988. 1
42558943989. 2
42558943990. 3
42558943991. 4

Question Number : 110 Question Id : 42558911302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are correct ?

The Didarganj Yakshi belongs to the Mauryan School of Art.
The Sanchi Torso is a famous Gupta sculpture.

The Sultanganj Buddha is dated to the Gupta period.

The Sarnath Buddha in dharmachakra mudra is a specimen of Gupta Sculpture.
The Trimurti Shiva at Elephanta belongs to the Gupta School.
Choose the correct answer from the options given below :

L, A,B,C, DOnly

2. B,CD,EOnly

3. A,B,D,EOnly

4. A,B,C EOnly

monwrP

Options :

42558943992. 1
42558943993.2
42558943994. 3
42558943995. 4



Question Number : 110 Question Id : 42558911302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

frefafea § 4 99 e 99 €2

A e geft w1 oot Selt ¥ e @

B. Wl wg-wfqar weam 1w gfd €1

C. Yearis o5, Taehe € |

D. v W H WY 95 T Hfdohon o1 A ¥ |
£ Ueltha ¥ o fora T Seft & waifua €1
= feu o fomredi o 9 W& ST A ¢

1. IdA, B,C,D

2. FFAB,CD,E

3. FIAA,BD,E

4. FIAA,B,CE

Options :

42558943992. 1
42558943993. 2
42558943994. 3
42558943995. 4

Question Number : 111 Question Id : 42558911303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct with regard to Jainism?

Mahavira emphasised on the law of Brahmacharya.

The doctrine taught by Mahavira was contained in fourteeen old texts called Purvas.
The twelve angas were compiled at the council held at Pataliputra.

The followers of the Bhadrabahu came to be known as Digambaras.

The final compilation of the scriptures took place at the council held at Valabhi.
Choose the correct answer from the options given below:

L, A,B,C, DOnly

2. B,CD,EOnly

3. A,B,D,EOnly

4. A,B,C EOnly

monwrP

Options :

42558943996. 1
42558943997.2
42558943998. 3
42558943999. 4



Question Number : 111 Question Id : 42558911303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

S o o gay H frefafag § 9 S e 9 € 2

A WRER A FEEd & e W ad fean

B. WeMR gNI ¥rEm U fagia gd Ares =i A Ui | gwifead 9
c. URfaga ¥ sarsd Sfa/a § 9RE 337 Hahfod e T 9 |
D.
E.

WgaTg o SATAE feer ey 9|
oYl T SifaH Hehor Soadl H g Hiita/arg H T wam o
1 fau Ty fomredi o | W I T ¢
1. IdA, B,C,D
2. FFAB,CD,E
3. FIAA,BD,E
4. FIAA,B,CE

Options :

42558943996. 1
42558943997.2
42558943998. 3
42558943999. 4

Question Number : 112 Question Id : 42558911304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct with regard to the guilds and corporate bodies in ancient
India?
A.  Srenis were the craft guilds.
Jetthakas were the chiefs of the guilds or corporate bodies.
The chief merchant was called Setthi.

Karyachintakas were the groups of traders.

Pugas were the council of merchants.

Choose the correct answer from the options given below:

1 A, B, COnly

2. B, C, D Only

3. A,B,D,EOnly

4. A,C DOnly
Options :

42558944000. 1

42558944001 2

42558944002. 3
42558944003. 4

moon®



Question Number : 112 Question Id : 42558911304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e 9Rd H fireg SR e el & an | Feafofed § 9 ey s 96§ 2

A 99, gEerl fiiee ot

B. 23, fiiee s1val Sruie el & yqa 4 |
C. H®A ARl V3T Feam o |
D.  wrAf=dek, AT o 9% 9 |
E. I, A T qiug o |

=1 fou o fosredi § 9 W& 3T T ¢
1.  FIAA, B, C

2. FFAB,CD

3.  FIAA,B,D,E

4. FEAACD

Options :

42558944000. 1
42558944001. 2
42558944002. 3
42558944003. 4

Question Number : 113 Question Id : 42558911305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the Following statements are correct under Purana ethics?
The Puranic gods are worshipped through oblations in the fire.
The ancestors are propitiated by tarpan.
Sanyasa is the stage where one gains knowledge.
Vanaprastha is a stage before the final stage of renunciation.
There were no specific rules for the Brahmacharya stage.
Choose the correct answer from the options given below:

1. A, B, DOnly

2. A, B, COnly

3. A, B, EOnly

4, B, C, D Only
Options :

42558944004 1

42558944005. 2

42558944006. 3
42558944007. 4

monw>>



Question Number : 113 Question Id : 42558911305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

frefafea & ¥ SE s g oo § w&d €2

A drfoes Sga #fE H§ smefd g g9 S €
B. &Sl ! qYW R wHIfed fean S € |

C. T=H g = g, foud 3= srfsia g g
D. YRS, IR 1 Sffam ofeen | o & =0 ¥
E. oy = o fow g fag e = &
1 fau Ty fomredi o | W@ I T ¢

1.  TFIAA,B,D

2. FEFAA,B,C

3. FIAA,BE

4. FIAB,C,D

Options :

42558944004. 1
42558944005. 2
42558944006. 3
42558944007. 4

Question Number : 114 Question Id : 42558911306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements regarding the Prayag Prasasti of Samudragupta are correct?
It is written both in verse and prose.

The whole prasasti consists of single gigantic sentence.

The Prasasti describes Samudragupta as a great musician.

The military conguests shown here served as a model for Kalidasa’s Raghuvamsa.
The inscription describes Samudragupta’s struggle to acquire the throne.

Choose the correct answer from the options given below:

1. A, B, COnly

2. B, C, D Only

3. A,B,DOnly

4. AC EOnly

monwrP

Options :

42558944008. 1
42558944009. 2
42558944010. 3
42558944011. 4



Question Number : 114 Question Id : 42558911306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TS 1 YA Y9t & =i # frefafes § 9 S98 Fom g9 82

A T8 3R W, <M H fafea 7

B.  Hqul qurdl Uehdt fawme o A W ¥

C. U H HUEW H T HeW WiaER & w9 H R w2

D. I quIE E §=1 fasw J wifee % ey % fau wed w1 wm fFan)
£ ifyera | wqeTa & foered wift o ged o1 afofq fawan T &

=1 fou o fosredi § 9 W& 3T = ¢
1. AT A, B, C

2.  FFAB,C D

3. FIAA,BD

4. FEAACE

Options :

42558944008. 1
42558944009. 2
42558944010. 3
42558944011. 4

Question Number : 115 Question Id : 42558911307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following statements are correct about Nayakas?
Nuniz says that there were roughly 300 Nayakas in the Vijaynagar Empire.
Nuniz says that they were not the owners of land.
Stein argued that Nayakas were territorial magnates in their own right.
Nayakas’ rule in Tamil Nadu extended from early 16th Century till the 19th Century.
Senji, Tanjavur, and Madurai were three dominant Nayakas.
Choose the correct answer from the options given below :
1. B, C DOnly
2. A, B, COnly
3. A, C, EOnly
4, B, D, E Only

mon0w>rP

Options :

42558944012. 1
42558944013.2
42558944014. 3
42558944015. 4



Question Number : 115 Question Id : 42558911307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et o R H fafafea § 4 e wue g ¥2

A, TS % SFTER faSETR GEeg | SIS 300 EE 9 |

B. IS % STHR & yff & Tt 7 o

C. TAF IIUR TEF T W F AfFR H &g ufem 9|

D. OMHANE H AHF WA ARIYF 163 vrareat § 198 Irrea| aok HAH @ |
. sl dorg ofR Wet dF wE e 9

= feu o fomredi o 9 W& 3w A
1. FIdB,C,D

2. FEFAA,B,C

3. FFAACE

4. FIAB,D,E

Options :

42558944012. 1
42558944013. 2
42558944014. 3
42558944015. 4

Question Number : 116 Question Id : 42558911308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are correct with regard to the water harvesting and management in Indian
subcontinent during ancient period ?

The evidence of Canal irrigation has been discovered at Sanauli.

The Great bath at Mohenjo Daro has provisions for the supply of water and its outlets.

The evidence of Check dams were discovered at Mehargarh.

The archaeological findings at Shortughai indicate the existence of a canal system.

The excavation at Dholavira brought to light the evidence of a reservoir.

Choose the most appropriate answer from the options given below :

i A, B, Cand Donly

2. B, C, DandE only

3. A, C, DandE only

4, A, B, Dand E only

Mg 5w g

Options :

42558944016. 1
42558944017.2
42558944018. 3
42558944019. 4



Question Number : 116 Question Id : 42558911308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafad § ¥ Y YA 9=HE Ha H A" SUHeed § Sd 90 S gaHE FaN § 5l © 2

A Tt ¥ e fou & e fod €

B. TSRS % HeM THNR H Semyfd o faafmei @ g o
C. WU H Tk = F qrey foer €1

D. YIS H YUAg W Ted Fomedt 1 i guid ¥ |
E. e  Seaad ¥ S o 918 9§ o1
1 fau Ty fomredi o | W I T ¢

1. FIAA, B, CandD

2. FFAB,C DandE

3. FHFAACDandE

4. FIAA B DandE
Options :

42558944016. 1
42558944017. 2
42558944018. 3
42558944019. 4

Question Number : 117 Question Id : 42558911309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statement are correct with regard to the Ajivikas?

Al
B.
C.
D

E.

The Ajivika sect emerged at the same time as Buddhism and Jainism.

The Ajivikas were ascetic who followed rigourous discipline.

The Ajivikas believed that the whole universe was conditioned and determnined by Niyati or destiny.
No scriptures of the Ajivikas are available to us and the little we know about them has to be
reconstructed from the Buddhist and the Jain literature.

The Ajivikas in south India developed their doctrines resembling Puranic cosmology.

Choose the maost appropriate answer from the options given below :

1
2.
3.
4.

A, B, Cand Donly
B, C, DandE only
A, B, Dand E only
A,C, Dand E only

Options :

42558944020. 1
42558944021.2
42558944022. 3
42558944023. 4



Question Number : 117 Question Id : 42558911309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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e feu o oo § | Wl W T ¢

1.  Fae A, B, CARD

2.  FIAB,C, D3IRE

3. FadA,B, DIRE

4.  FAAA,C DARE

Options :

42558944020. 1

42558944021. 2

42558944022. 3
42558944023. 4

oo P

Question Number : 118 Question Id : 42558911310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct with regard to Indian music?
The Panchama is the raga most closely corresponding to the European major scale
The Megha raga is associated with joy and laughter

The most appropriate time for performing the Kausika raga is night
The Panchama is not among the six original ragas

The Dipaka raga is associated with love

Choose the most appropriate answer from the options given below:

i A, B, C Donly

2. B, C, D, Eonly

3. A,C, D, Eonly

4. A, B,CDE

Mg 5w g

Options :

42558944024. 1
42558944025.2
42558944026. 3
42558944027. 4



Question Number : 118 Question Id : 42558911310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

R Eifta o forrs § fafafag § § S8 &d 9 § 2

A W, FATE TSR Thel % 9ad R agm R
B. Y I 7T 2R g 4 995§
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1. IdA, B,C,D

2. FFAB,CD,E

3. FFAACD,E

4. A BCDE

Options :

42558944024. 1
42558944025.2
42558944026. 3
42558944027. 4

Question Number : 119 Question Id : 42558911311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which among the following are true about the Wavell plan and Simla Conference?
A.  Wavell Plan received unanimous support of British political parties, including the Labour Party
B.  Atthe Conference Master Tara Singh represented the Sikhs
C. Muslim League refused to submit its list of names for the propsced Executive Council
D. Wavell proposed to select a Muslim member each from the Congress and the Unionist Party and the
rest from the Muslim League
E. The Conference failed because both the Congress and the Muslim League wanted equal number of
Muslim members in the proposed Executive Council.
Choose the most appropriate answer from the options given below:
1 A, Cand D only
2 A, B and Donly
3. A, B and C only
4. B, D and E only
Options :
42558944028 1
42558944029. 2

42558944030. 3
42558944031. 4



Question Number : 119 Question Id : 42558911311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. AT A, CIRD

2. FFAA BIHRD

3.  wHad A, B3RC

4. %9 B, D 3NE

Options :

42558944028. 1
42558944029. 2
42558944030. 3
42558944031. 4

Question Number : 120 Question Id : 42558911312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Sampurnanand published a pamphlet in April 1934 proposing the formation of an All-India Socialist Party.
Which among the following are true about it?
A.  While drafting the tentative Socialist programme, he consistently kept India’s cultural, historical,
political and economic background before him.
B. He made no attempt to follow Leninism.
C. Theimmediate goal of the propsoed party was dominion status, while seeking complete independence
after a decade.
D. It proposed abolition of Zamindari without any compensation.
E. It sought freedom of worship.
Choose the most appropriate answer from the options given below:
1 A, BandEonly
2 A, Cand D only
3. C, Dand E Only
4. A, B and C Only
Options :
42558944032. 1
42558944033. 2

42558944034. 3
42558944035. 4



Question Number : 120 Question Id : 42558911312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1.  FadA, BIIRE
2. Had A, C3HRD
3. adc,D3IRE
4. FaAA, BIRC
Options :

42558944032. 1
42558944033.2
42558944034. 3
42558944035. 4

Question Number : 121 Question Id : 42558911313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are correct about the Vernacular Press Act of 18787

Al

E.

It was another example of secret collaboration between Governor General Lord Lytton and Secretary
of State Lord Salisbury.

Lytton admitted that this measure was “nominally legislative” and virtually an "executive act”.

During the debate in the Legislative Council majority of the European unofficial members opposed the
bill.

After the passage of the bill in the Legislative Council, the Governor General took a long time to give

his assent.
Calling the Vernacular Press a hydra, Lytton intended the Act to behead it at “one sudden stroke”.

Choose the most appropriate answer from the options given below:

1.
2.
3.
4.

B, Dand E only
B, Cand E only
C, Dand E only
A, Band Eonly

Options :

42558944036. 1
42558944037. 2
42558944038. 3
42558944039. 4



Question Number : 121 Question Id : 42558911313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. %I B,DRE

2. a9 B,C 3NE

3.  %adC,DARE

4. FAAA, BERE
Options :

42558944036. 1
42558944037. 2
42558944038. 3
42558944039. 4

Question Number : 122 Question Id : 42558911314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which among the following are true in connection with the ideas of physical regeneration preached by Hindu
Mahasabha and its leadersin pre-Independence period?
A.  The Organisation and its leaders drew attention to “physical decadence” and “numerical decrease”
of Hindus.
B. M R Jaykar called Moplah riots one of the “darkest chapters” in Indian nationalism which had,
however, taught Hindus to “organise themselves”.
C.  Surat Session of Hindu Mahasabha in 1929 asked Hindus to embrace non-violence and follow Gandhian
methods for securing Swaraj.
D. B S Moonje set up the Central Hindu Military Education Society.
E. B S Moonje's efforts in starting a military school failed due to lack of funds.
Choose the most appropriate answer from the options given below :
1. A, B and Conly
2. A, B and Donly
3. B, Cand D only
4. A, BandEonly
Options :
42558944040. 1
42558944041, 2

42558944042. 3
42558944043. 4



Question Number : 122 Question Id : 42558911314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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frefafea § 4 sFw g7 2

A TR 3R 39 Aaedi A fegell & ' iifaes fama " iR Heaenss i ' T 3TN e aefua feRa |

B. TUH.IR. SAH A HIYAT &1 I WG Tegale 1 ' whren 1A’ e, Telis e fegatl &
Hrfed &' faam |

C. 1929 ¥ fgg WermYl o §ia s1fyaF A fegsll ¥ sifegq 19 3R @ Wit & forg wisfare: ffei
1 STIIRYN FIA 1 S8 o

D. # TH = | Hea e el Usehym Samaet 1 Tl i o |
ot 9 g % ek famrmera v A % g fAferi w0 T % T ST 2 T |

ﬁ%ﬁqmﬁmﬁﬁﬂ'@waﬁ

1. SRad A, BIRC

2. Fal A, BIRD

3. @ad B, C3RD

4. HhAA A, BIRE

Options :

42558944040. 1

42558944041. 2

42558944042. 3
42558944043. 4

Question Number : 123 Question Id : 42558911315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct regarding the Chahmans or Chauhans?
A The Chauhan ruler Vigraharaja captured Chittor.

B Vigraharaja captured Delhi from Tomar rulers.

@ Prithviraj-lll led an expedition against the Chandelas.

D Prithviraj-lll entered into the battle against Muizzuddin.

E Vigraharaj was defeated by Bhima-Il, the Chalukya ruler of Gujarat.
Choose the most appropriate answer from the options given below :

1. A, B, C Donly

2. B, C, D, Eonly

3. A, B, D, Eonly

4, A, C, D, Eonly

Options :

42558944044. 1

42558944045. 2

42558944046. 3
42558944047. 4



Question Number : 123 Question Id : 42558911315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UM Al JrHl o ar § fefafas § § A9 wea ' €2

A rer e fareust 7 fadie W e fea

B. fauews A dmr w9 feoet 1 srfeme fean
C. YRS A Teal o faeg fvam = Aga e
D. YHERIS-II A gFeeed & favg g8 # um fomn
E. T, e o =ieied WEeE WiH-N1 ¥ quisd ge |
=1 fou o foskedi § 9 W& W T ¢

1. IdA, B,C,D

2. FFAB,CD,E

3. FIAA,BD,E

4. FEAACD,E

Options :

42558944044. 1
42558944045. 2
42558944046. 3
42558944047. 4

Question Number : 124 Question Id : 42558911316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the statements are correct about Shivaji’'s administration?
Shivaji preferred giving cash salaries rather than revenue free grants.
He prohibited illeagal exactions of the Mirasdars.
Shivaji wanted to reform the existing system rather than create a new one.
Chauth was one-tenth of the land revenue.
Sardeshmukhi was one-fourth which was levied from the Maratha chiefs.
Choose the most appropriate answer from the options given below:
i A, B, Conly
2. B, C, Donly
3. A, C, Eonly
4, C, D, E only

monwrP

Options :

42558944048. 1
42558944049. 2
42558944050. 3
42558944051. 4



Question Number : 124 Question Id : 42558911316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ferEmsit % garEd & 9 § fFreAfafEd 4 8 A w9 q9 8 7

A TemETS USRS A ST S ST RS AT o i Wi 2 |
B. SR MUEER & 218y Te-@de &l dg |

c. foraTst 7S YOMEH ST T S STHA TOTCH S GHREAT =9ed 4 |
D. =y, yff TSI I SHAT YR o |

£ OCYE! U w9 T o, S A0S WERI Y ST S o |
9 fau Ty fomredi § | W I T ¢

1. “RAAA,B,C

2. a9 B,CD

3. HAAA,GE

4. A C,D,E
Options :

42558944048. 1
42558944049. 2
42558944050. 3
42558944051. 4

Question Number : 125 Question Id : 42558911317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct about Bhakti devotionalism?

A. Ramanuja advocated Tantric practices to foster Lingayata movement.

Ballabhacharya created awareness of the importance of Krishna Bhakti.

Ramdas popularised the worship of Rama.

Shaivism was strong in Tamil Nadu between 7th and 9th centuries.

Varakari sampradaya practised no caste bias, but the entry to the sampradaya was restricted to men

m: 5 e

only.

Choose the most appropriate answer from the options given below:
1 B, C, Donly
2. A, B, Conly
3. C, D, E only
4. A, C, Eonly
Options :
42558944052. 1
42558944053. 2
42558944054. 3
42558944055. 4



Question Number : 125 Question Id : 42558911317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ufs urATETe % 9R # frafafe § § #9E wyd 99 §2

A TS | feATEd ke 1 gita-godiad A & fo aifses gansii o Sehea o |
B. iy A FO Wiekd oh! Wewl o I H STeehdl gierd i ofi |

C. TWS™ A TH TSN &l waferd fehar

D.  eHd 74l A 9el vdTfeqdl o s dArHerTg H ek o |

E. oeRd 9YSE | Sifa S=urE 7E foran e on, fob U § U9e Feae TEUi ek Hifed o |
1 fau Ty fomredi o | W I T ¢

1. °dd B,C, D

2. HAAA,B,C

3.  HEAC D,E

4. HFAA,CE

Options :

42558944052. 1

42558944053.2

42558944054. 3
42558944055. 4

Question Number : 126 Question Id : 42558911318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - | with List -1l :

List - | List- 1l
A. Bhagvadgita l. Buddhism
B. Harscharita I1. Jainism
i Milindapanho lll.  Mahabharata
D. Paumachariyam IV.  Banabhatta

Choose the correct answer from the options given below:
1. A-l, B-lll, C-IV, D-ll

2. A-ll, B-lV, C-lIl, D-l

3. A-lll, B-IV, C-, D-lI

4.  A-lV, B-ll, C-I, D-1ll

Options :

42558944056. 1

42558944057. 2

42558944058. 3
42558944059. 4



Question Number : 126 Question Id : 42558911318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - [ 1 gt - 19 goferd &L
T - 1 T - 1

A TSR . drg e
B. ®Yufa . S o
c. Tofa=gwE T ik
D. USHEIH VAR 1 ercs
T feu Ty fomred § | |E I T ¢

1. A, B-lll, C-IV, D-lI
2. A-ll, B-IV, C-lII, D-I
3. A-lll, B-1V, C-I, D-lI
4. A-lV, B-ll, C-1, D-lI
Options :
42558944056. 1
42558944057.2
42558944058. 3
42558944059. 4

Question Number : 127 Question Id : 42558911319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List - | with List -1l :

List- | List- Il
A.  Apoha l. Shaivism
B. Shalakapurusa Il. Vira Shaiva
i Devaradasimayya l1l.  Buddhism
D.  Abhinavagupta V. Jainism

Choose the correct answer from the options given below :
1.  A-ll, B-IV, C-1lI, D-l

2. A-ll, B-1v, C-ll, D-l

3. A-l, B-lll, G-IV, D-Il

4. A-IV, B-ll, C-I, D-Il

Options :

42558944060. 1

42558944061. 2

42558944062. 3
42558944063. 4



Question Number : 127 Question Id : 42558911319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - [ 1 gt - 19 goferd &L
T - 1 T - 1
EEl

A. . Yawd
B.  VIGhIYET . drR ¥
C. SesiawE n. oG G
D.  AfETa v, S Y
= feu o foeredl o @ W& ST T ¢

1. A-ll, B-IV, C-llI, D-l
2. A-lll, B-1V, C-ll, D-l
3. A, B-lll, C-IV, D-lI
4. A-lV, B-lll, C-1, D-I
Options :
42558944060. 1
42558944061. 2
42558944062. 3
42558944063. 4

Question Number : 128 Question Id : 42558911320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - | with List -1l :

List- | List- 1l
Al Dinabandhu Mitra l. Mahayatra
B. Radha Nath Ray I Vasant Gatha
@ Madhusudan Roy lll.  Neel Darpan
D. Lakshman Moreshwar IV.  Muktamala

Choose the correct answer from the options given below :
1.  A-lll, B-l, C-Il, D-IV

2. A-ll, B-ll, C-IV, D-I

3. A-lll, B-l, C-IV, D-lI

4. A-lll, B-ll, C-l, D-IV

Options :

42558944064 1

42558944065. 2

42558944066. 3

42558944067. 4



Question Number : 128 Question Id : 42558911320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

et - [ 1 gt - 19 goferd &L
T - 1 T - 1

A Srsy e . HEEE
B. oA™Y UH . SHd e
C. WYY T4 . e g9
D.  TEeTHY H¥R V.

T feu Ty fomred # | |E I T ¢

1. A-lll, B-1, C-ll, D-IV
2. A-lll, B-11, C-IV, D-l
3. A-lll, B-l, C-IV, D-lI
4. A, B-l, C-1, D-IV
Options :
42558944064. 1
42558944065. 2

42558944066. 3
42558944067. 4

Question Number : 129 Question Id : 42558911321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List - | with List -1l :

List -1 List - Il

Founder Organization

A. G W Leither l. Prarthana Samaj

B.  Satyanand Agnihotri 1. Anjuman-i-Punjab

C.  Tulsi Ram lll.  DevSamaj

D.  Atmaram Pandurang IV.  Radha Soami Satsang

Choose the correct answer from the options given below:
1.  A-ll, B-IV, C-lll, D-l

2. A, B-ll, G-IV, D-|

3. A-IV, B-lll, C-ll, D-I

4.  A-ll, B-lll, C-1V, D-|

Options :

42558944068. 1

42558944069. 2

42558944070. 3
42558944071. 4



Question Number : 129 Question Id : 42558911321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

et - [ 1 gt - 19 goferd &L
T - 1 Tt - 11
f S

HraTIsh
A S E5g W L A HETS
B. HodMg e I SAgHE-T-gEE
C. gadtmm . <9 G
D.  HHRH 9igin V. T T FeT
Fr= fou o fosredi # | |98 IW T ¢

1.  A-ll, B-IV, C-lll, D-l
2. A-lll, B-I, C-1V, D+l
3. A-lV, B-lll, C-ll, D+
4. A-ll, B-lll, C-1V, D-I
Options :
42558944068. 1
42558944069. 2

42558944070. 3
42558944071. 4

Question Number : 130 Question Id : 42558911322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List - | with List -1l :

List - | List - 1l
A, Sakharam Ganesh Dweskar l. Swadeshi Bhandar
B. Rabindranath Tagore I New Lamps for Old
C. Aurobindo Ghosh lll.  Lakshmir Bhandar
D. Sarla Devi IV.  Desher Katha

Choose the correct answer from the options given below:
1.  A-lll, B-ll, C-l, D-1V

2. A-lV, B-l, C-1l, D-1ll

3. A-IV, B-l, C-1ll, D-1I

4. A-l, B-ll, C-lI, D-IV

Options :

42558944072. 1

42558944073. 2

42558944074. 3
42558944075. 4



Question Number : 130 Question Id : 42558911322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

et - [ 1 gt - 19 goferd &L
et -1 Tt - 11

A TENH T SHER . @RIl WEr

B. amsmy TR N o ER e
c. anfa=< sy . R YR

D.  9Ten odl IV, TSR AT

= feu o foeredl o @ W& ST A ¢

1. A-lll, B-lI, C-l, D-IV
2. A-lV, B-l, C-ll, D-1I
3. A-lV, B-l, C-lll, D-I
4. A, B-ll, C-llI, D-IV
Options :
42558944072. 1
42558944073.2

42558944074. 3
42558944075. 4

Question Number : 131 Question Id : 42558911323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List - | with List -1l ;

List- | List - 1l
Authors Books/Pamphlets
A, Dayanand Saraswati l. Hindudharmopadesha
B. Kanhya Lal Alakhdhari I Gaukarunanidhi
C.  Shraddha Ram lll.  Chirag-i-Hakikat
D. Madan Mohan Malaviya IV.  Dharma Raksha

Choose the correct answer from the options given below:
1.  A-ll, B-lll, C-1v, D-l

2. A-lV, B-ll, C-1l1, D-l

3. A-l, B-lll, G-IV, D-Il

4. A-ll, B-lll, C-l, D-IV

Options :

42558944076. 1

42558944077. 2

42558944078. 3
42558944079. 4



Question Number : 131 Question Id : 42558911323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - [ 1 gt - 19 goferd &L

T - 1 -11
Ew e TR E
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B. Hedl old SeT@m I, TireREonfAfY
C. 9311 n.  feRr-u-gEtEa
D. T&H HEH HeTEy IV, o el
9 feu o fomredi # | WE I T ¢

1. A-ll, B-lll, C-1V, D-l
2. A-lV, B-lI, C-lll, D-
3. A, B-lll, C-IV, D-II
4. A-l, B-lll, C-l, D-IV
Options :
42558944076. 1
42558944077. 2
42558944078. 3
42558944079. 4

Question Number : 132 Question Id : 42558911324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - | with List -1l :

List - | List- 1l
A. Krishna l. Vaisarvana
B. Kubera I1. Mayon
C: Parvati . Mariyammai
D. Sitala IV.  Annapurna

Choose the correct answer from the options given below:
1.  A-l, B-ll, C-lll, D-1V

2. A-ll, B-l, C-lll, D-IV

3. A-l, B-ll, C-IV, D-1Il

4. A-ll, B-l, C-IV, D-Il

Options :

42558944080. 1

42558944081. 2

42558944082. 3
42558944083. 4



Question Number : 132 Question Id : 42558911324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - [ 1 gt - 19 goferd &L
T - 1 T - 11

A O . OEREd
B. Fa . wEM

C. Ol L AT
D.  ¥iden V. =g
=1 fou o fosredi # 9 W& IW T4 ¢

1. A, B-ll, C-lll, D-IV
2. A-ll, B-1, C-lll, D-IV
3. Al B-ll, C-IV, D-1lI
4. A-ll, B-1, C-1V, D-lI
Options :
42558944080. 1
42558944081. 2

42558944082. 3
42558944083. 4

Question Number : 133 Question Id : 42558911325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List - | with List -1l :

List - | List- 1l
A, Pumsavana l. A ceremony to ensure the safety of the child in the womb.
B. Snataka 1. One who has bathed.
C. Simantonnayana lll. A ceremony to procure male child.
D. Samavartana IV. A special home coming ceremony.

Choose the correct answer from the options given below :
1.  A-ll, B-l, C-lll, D-1V

2. A-ll, B-ll, C-1, D-IV

3. A-l, B-ll, C-lll, D-IV

4.  A-IV, B-lll, C-ll, D-|

Options :

42558944084 1

42558944085. 2

42558944086. 3
42558944087. 4



Question Number : 133 Question Id : 42558911325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - [ 1 gt - 19 goferd &L
@-1 T - 1

A gEaA | T H SToek 1 g gHvEd o 2 SR
B. TWAF . =g, o v fan ®
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D. HHaH . Tordre g SnTHA SEE

=1 fou o fosredi # 9 W& IW T4 ¢

1.  A-ll, B-I, C-lll, D-IV
2. A-lll, B-1l, C-l, D-IV
3. A-l, B-lI, C-lll, D-IV
4. A-lV, B-lll, C-ll, D-I
Options :
42558944084. 1
42558944085. 2

42558944086. 3
42558944087. 4

Question Number : 134 Question Id : 42558911326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List - | with List -1l ;

List- | List - 1l
Books Authors
A.  AHistory of South India (From Pre-Historic times to the Fall of s W. W. Hunter
Vijayanagar)
B.  The Indian Mussalmans 1. Sanjeev Sanyal
. Revolutionaries (The other story of how India won its freedom) Il. K. A. Nilkanta Sastri
D.  The Extremist Challenge (India between 1890 and 1910) V.  Amales Tripathi

Choose the correct answer from the options given below :
1. A-lll, B-l, C-IV, D-lI

2. A-IV, B-l, C-1ll, D-1I

3. A-lll, B, C-ll, D-IV

4.  A-l, B-ll, C-lll, D-IV

Options :

42558944088. 1

42558944089. 2

42558944090. 3

42558944091. 4



Question Number : 134 Question Id : 42558911326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - [ 1 gt - 19 goferd &L
et -1 Tt - 11
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1. A-lll, B-l, C-IV, D-lI
2. A-IV, B-l, C-lll, D-II
3. A-lll, B-1, C-ll, D-IV
4. A, B-ll, C-lIl, D-1V
Options :
42558944088. 1
42558944089. 2

42558944090. 3
42558944091. 4

Question Number : 135 Question Id : 42558911327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - | with List -1l :

List- | List- 1l
Maratha Officials Responsibilities
A. Chitnis I Household Affairs
B. Dabir 1. Charitable Grants
2 Panditrao 1. Correspondences
D.  Wage Navis IV.  Dealt with Foreign Affairs

Choose the correct answer from the options given below :
1.  A-l, B-llI, C-IV, D-Il

2. A-ll, B-IV, C-lI, D-l

3. A-IV, B-ll, C-I, D-1ll

4. A-ll, B-l, C-lIl, D-IV
Options :

42558944092 1

42558944093. 2

42558944094. 3

42558944095, 4



Question Number : 135 Question Id : 42558911327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - [ 1 gt - 19 goferd &L
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1. Al B-lll, C-IV, D-lI
2. A-lll, B-IV, C-ll, D-
3. A-lV, B-ll, C-1, D-III
4. A, B, C-lll, D-IV

Options :

42558944092. 1

42558944093. 2

42558944094. 3

42558944095. 4

Question Number : 136 Question Id : 42558911328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List - | with List -1l :

List- | List- 1l
Travelers Nationality
A.  Thomas Coryat l. Portuguese
B.  Jean Chardin I English
& Francisco Pelsaert lll.  Dutch
D. Nuniz IV.  French

Choose the correct answer from the options given below :
1. Al B-ll, C-IV, D-Ill

2. A-ll, B-IV, C-1I, D-|

3. A-lll, B, C-ll, D-IV

4.  A-lV, B-lll, C-1, D-Il

Options :

42558944096. 1

42558944097. 2

42558944098. 3

42558944099. 4



Question Number : 136 Question Id : 42558911328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. Al B-ll, C-IV, D-llI
2. A-ll, B-lv, C-lll, D-
3. AL, B-l, C-Il, D-IV
4. A-lV, B-lll, C-1, D-lI
Options :
42558944096. 1
42558944097. 2
42558944098. 3
42558944099. 4

Question Number : 137 Question Id : 42558911329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - | with List -1l :

List - 1 List- 1l
Books Author
A Khulasat-ut-Tawarikh L. Khafi Khan
B. Riyaz-Us-Salatin I1. Ghulam Hussain Salim
C. Muntakhab-ul-Lubab . Sujan Rai
D.  Siyar-ul-Mutakherin IV.  Ghulam Hussain

Choose the correct answer from the options given below :
1.  A-lll, B-ll, C-l, D-1V

2. A-lV, B-lll, C-l, D-l

3. A-ll, B-l, C-lll, D-IV

4. A-l, B-IV, C-lll, D-Il

Options :

42558944100. 1

42558944101. 2

42558944102. 3
42558944103. 4



Question Number : 137 Question Id : 42558911329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

et - [ 1 gt - 19 goferd &L
T - 1 Tt - 11
s

qEw
A GAEE - 3 - dEE L W A
B. Tas - 3§ - wanfeA . T g4 el
C. HamEE - 3 - A n.  GeE A
D. TR - 3 -yawfeA V. e g4HA
= feu g foskedi W 9 W& 39 A :

1. AL, B-1l, C-l, D-IV
2. A-lV, B-llI, C-ll, D-
3. A-ll, B, C-llI, D-IV
4. A, B-IV, C-l1I, D-lI
Options :
42558944100. 1
42558944101. 2

42558944102. 3
42558944103. 4

Question Number : 138 Question Id : 42558911330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List - | with List -1l :

List- | List—1I

Garden Patron
A. Ram Bagh l. Akbarabadi Begum
B.  Zahara Bagh I Mumtaz Mahal
G Shalimar 1. Jahanara Begum
D.  Sahibabad IV.  Nurlahan

Choose the correct answer from the options given below :
1. A-l, B-ll, C-lll, D-IV

2. A-ll, B-lll, G-, D-IV

3. A-IV, B-ll, C-, D-lll

4. A-lll, B-1V, C-ll, D-|

Options :

42558944104. 1

42558944105. 2

42558944106. 3
42558944107. 4



Question Number : 138 Question Id : 42558911330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - [ 1 gt - 19 goferd &L
T - 1 T - 1
e j

[lgeh
A THEM . 3TReERE] ST
B. WU &M . YA Hed
C. YIemR WL STEISTRT STH
D. Wifeamrg v, TRl
= feu o fosred § 9 W& IW A ¢

1. Al B-ll, C-llI, D-IV
2. A-ll, B, C-l, D-IV
3. A-lV, B-ll, C-1, D-III
4. A-lll, B-1V, C-l, D-I
Options :
42558944104. 1
42558944105. 2

42558944106. 3
42558944107. 4

Question Number : 139 Question Id : 42558911331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - | with List -1l :

List- | List - Il

Party Founder
A.  All India Forward Bloc l. Surendranath Banerjea
B. Indian Association 1. Subhas Chandra Bose
G Congress Nationalist Party lll.  BRAmbedkar
D. Independent Labour Party IV.  Madan Mohan Malviya

Choose the correct answer from the options given below:
1. A-ll, B-l, C-lll, D-IV

2. A-ll, B-l, C-IV, D-1ll

3. A-l, B-IV, C-ll, D-1Il

4.  A-ll, B-IV, C-I, D-1ll

Options :

42558944108. 1

42558944109. 2

42558944110. 3
42558944111. 4



Question Number : 139 Question Id : 42558911331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
et - [ 1 gt - 19 goferd &L
T - 1 Tt - 11
T

T[EATIh
A S sfed BRATE sAiE L SNy asl
B. =fegd waifaueH I Y = a9
C. Y AwHfere et . o3 STeEE
D. SEMe= oel T V.  HEHd Higd HieetE
=1 feu 7o fosredi # 9 W& W T ¢

1.  A-ll, B-l, C-llI, D-IV
2. A-ll, B-1, C-IV, D-Ill
3. A, B-IV, C-ll, D-III
4. A-ll, B-1v, C-1, D-lIl
Options :
42558944108. 1
42558944109. 2

42558944110. 3
42558944111. 4

Question Number : 140 Question Id : 42558911332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - | with List -1l :

List- | List- 1l
Scholar Statement
A, Percival Spear l. Mansabdari System was a political compromise.
B. Douglas Streusand I Defined Mughal empire as a ‘Patrimonial Bureaucratic Empire’.
C.  Stephen Blake lll.  Described mansabdars as ‘elite within elite’.
D.  lohn F Richards IV.  Mansabdari emulated the terminology of Islamic corporate

military system.
Choose the correct answer from the options given below :
1.  A-IV, B-Ill, C-l, D-lI
2. A-ll, B-l, C-lll, D-IV
3. A-l, B-ll, C-IV, D-lll
4. A-lll, B-l, C-Il, D-IV
Options :
42558944112. 1
42558944113.2

42558944114. 3
42558944115. 4



Question Number : 140 Question Id : 42558911332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

et - [ 1 gt - 19 goferd &L
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feagm HAT
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1. AV, B-lIl, C-1, D-II
2. Al B-l, C-lll, D-IV
3. Ad, B-lI, C-IV, D-Il
4. A-ll, B-1, C-lI, D-IV
Options :

42558944112. 1

42558944113.2

42558944114. 3

42558944115. 4

Sub-Section Number : 2
Sub-Section Id : 425589447
Question Shuffling Allowed : No



Question Id : 42558911333 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Read the following passage and answer the questions :

‘Standing high on this plinth,” says Brown, ‘is the temple proper, approached by flights of steps leading to a

pillared porch on its western side, and it is here that its designers rose to the greatest heights. There is no
pronounced departure from the conventional combination of the mandapa and the vimana, but by the manner in
which various architectural elements, all definite and sharply outlined, such as cornices, pilasters, niches and
porticos, have been assembled in an orderly and artistic manner to form a unified whole, is masterly. Then over all
rises the stately tower in three tiers, with its prominently projecting gable-front, and surmounted by a shapely
cupola, reaching up to total height of 95 ft. But this is not all. Around the wide space of the platform at the base of
the vimana five subsidiary shrines have been fashioned out of the rock, each an elegant reproduction to a reduced
scale of the main theme, to which they serve as a refrain. The interior consists of a pillared hall, from which a
vestibule leads to the cella. This hall is a well-proportioned compartment measuring 70 feet by 62 feet having
sixteen square piers in groups of four in each quarter, an arrangement which produces a cruciform central aisle
with an effect of great dignity.’
Noteworthy in the remaining parts of the scheme are the two dhvajastambhas 51 feet high, one on each side of
the nandi shrine, in themselves striking works of art, which mark animportant stage in the evolution of the Southern
pillar style. Lastly the sculptural decoration of the entire temple fits its parts admirably and forms the crowning
glory of the monument. The vigorous representation of Ravana’s attempt to uproot mount Kailasa specially
deserves to be noted.

Sub questions

Question Number : 141 Question Id : 42558911334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following temples is being referred in the passage?

i 8 Kailasanatha Temple at Ellora

2. Virupaksha Temple at Pattadakal

3. Kailasanatha Temple at Kanchipuram
4. Brihadeshvara Temple at Tanjavur.
Options :

42558944116. 1
42558944117.2
42558944118. 3
42558944119. 4

Question Number : 142 Question Id : 42558911335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who among the following built the temple described here?

1. Krishna |

2, Vikramaditya Il

2 Mahendravarman ||
4, Narshimhavarman |
Options :

42558944120. 1
42558944121.2
42558944122. 3
42558944123. 4

Question Number : 143 Question Id : 42558911336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements regarding the temple is correct?
i The temple belongs to the category of cave temple.

2. The temple is huge ratha style structure.

3. The temple is a complete monolithic structure.

4, The temple reflects the highest point of the Dravida style.
Options :

42558944124. 1

42558944125.2

42558944126. 3
42558944127. 4

Question Number : 144 Question Id : 42558911337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct?

i Besides the temple mentioned here, Buddhist and Jaina structures too are located at this historical
site.

2. The sanctum sanctorum of the temple has a huge monolithic image of the Shiva mounted on Kailasa.

3. The location of the temple near the seashore attracted maritime traders in ancient period.

4, The tank located at the centre of the temple was for ritual purposes.

Options :

42558944128. 1
42558944129.2
42558944130. 3
42558944131. 4

Question Number : 145 Question Id : 42558911338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is correct with regard to this temple?

i The temple has one of the tallest gopurams among the Dravida style temple in India.

2. The temple has the largest mandapa of all the Dravida style temples.

3. The monuments at the site, where the temple is located, are included in the list of UNESCO world

heritage sites.

4, The construction of this temple was started by building a wide plinth at the bottom of the structure.
Options :

42558944132. 1

42558944133.2

42558944134.3
42558944135. 4



Question Id : 42558911333 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Frefafias srede ue oiv uvsi & o i
A3 Fed € T 39 R 961 W = TS 39 wiew &1 afyad famm o e g us o o v o €, SR
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W e feed fohu U 2, 98 S&a)/ 01 = Gehd ¢ | 39eh IYIT i ETen &% S0 &t SR WAl &, S 9gEd
Y 3T Hael-310 W U €, o T ifdw Fien & g €, 791 95 Wi Fel A qeh Teudl ¢ | o g ol
forer &1 2 | fomm &% NuR W eiE F ST Td F I Ui e gforeerd faen & mnh v € fod |
T WA fawa 1 92 g Tme W i gadenred €, T 9 o & w9 # uftefi F € 1 stiafen g ¥ e wy
A ¥, STl § WS el i SR o O ¥ | 9% efd Welsh I H R 9Hg § 16 97 FI%S Al 70 WIZ X 62 HIE
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AIST1 o 919 91§ 51 FiE S G Sy €, Sl Agl & a0l (690 €, FellcHeh Fid ohl FHERR UEdd Hid
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Sub questions

Question Number : 141 Question Id : 42558911334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=g ¥ frfafas § 9 fFg wfe =i Sefifa frar sn w1 &2

1. TS 1 hardary Hiet
2. YZZEFA I foEgE Hit
3. ST o SHemey Higw
4. TS 1 FEeTR Hi
Options :

42558944116. 1
42558944117. 2
42558944118. 3
42558944119. 4

Question Number : 142 Question Id : 42558911335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa § & fa ==t afvfa wifer 1 fmfor foear ar?

1. |

2. fespmiiest
3. WemaEd I

4.  RiEgIHA

Options :

42558944120. 1
42558944121.2
42558944122.3
42558944123. 4

Question Number : 143 Question Id : 42558911336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



frefafea § § Fm9r ey Gfet F o o 59 872
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Options :

42558944124. 1
42558944125. 2
42558944126. 3
42558944127. 4

Question Number : 144 Question Id : 42558911337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

freferfaa & & S Fo7 g 872
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Options :

42558944128. 1

42558944129. 2

42558944130. 3
42558944131. 4

Question Number : 145 Question Id : 42558911338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

20 Hfex & gay o frfafes o § $H9 wy[ 9o €2

1. YRA % sfag el o wfedl § gag a2 i 3 Hiey # from €
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Options :

42558944132. 1

42558944133.2

42558944134. 3

42558944135. 4

Sub-Section Number : 3
Sub-Section Id : 425589448
Question Shuffling Allowed : No



Question Id : 42558911339 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Read the following passage and answer the questions :

That the Hindu solution of the problem of the conflict of religions is likely to be accepted in the future seems
to me to be fairly certain. The spirit of democracy with its faith in the freedom to choose one’s ends and direct
one’s course in the effort to realise them makes for it. Nothing is good which is not self chosen; no determination
is valuable which is not self-determination. The different religions are slowly learning to hold on the hands of
friendship to each other in every part of the world. My presence here this evening is an indication of it. The
parliaments of religions and conferences of liberal thinkers of all creeds promote mutual understanding and
harmony. The study of comparative religion is developing a fair attitude to other religions. Itis impressing on us the
fundamental unity of all religions by pointing out that the genius of the people, the spirit of the age and the need
of the hour determine the emphasis in each religion. We are learning to think clearly about the inter-relation of
religion.

Sub questions

Question Number : 146 Question Id : 42558911340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a book authored by Sarvepalli Radhakrishnan?
i The Hindu View of Life

2. The Principal Upanishads

3. Living with a Purpose

4, Thought-Forms

Options :

42558944136. 1

42558944137, 2

42558944138. 3
42558944139. 4

Question Number : 147 Question Id : 42558911341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

This passage is attributed to the following thinker-
i Swami Vivekananda

2. Sarvepalli Radhakrishnan

3. Sri Aurobindo

4, Annie Besant
Options :

42558944140. 1

42558944141, 2

42558944142.3
42558944143. 4

Question Number : 148 Question Id : 42558911342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who is the author of the book Ancient Wisdom?

1. Annie Besant

2, Bagawan Das

3. Sarvepalli Radhakrishnan
4, Lajpat Rai

Options :

42558944144. 1



42558944145.2
42558944146. 3
42558944147. 4

Question Number : 149 Question Id : 42558911343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Why is the author of the passage optimistic about the “Hindu solution” of the conflict of religions?
i 8 Hindu religion is among the most ancient.
2. Hindu Religion has worked to bring different religious system of the world on a common platform.
3. A spirit of democracy pervades the Hindu religion
4, Hindu religion accepts transmigration of soul.
Options :
42558944148 1
42558944149, 2

42558944150. 3
42558944151. 4

Question Number : 150 Question Id : 42558911344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who said, ‘l am proud to belong to a nation which has sheltered the persecuted and the refugees of all
religions and all nations of the earth”?

1 Mahatma Gandhi

2, Rabindranath Tagore

3. Swami Vivekananda
4, Swami Shraddhanand
Options :

42558944152. 1
42558944153.2
42558944154. 3
42558944155. 4



Question Id : 42558911339 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Frefafiaa sr=de ue of wvei & ww difse
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Sub questions

Question Number : 146 Question Id : 42558911340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefafea & | Fie gavee TFwH gr fafed gees T8 22
fa. fo=g =1 1% oe®
2. g fufaue suftogy
3. wifa fag w wos
4,  9fe-
Options :
42558944136. 1
42558944137.2

42558944138. 3
42558944139. 4

g

Question Number : 147 Question Id : 42558911341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T e &1 9 frfafa foas = fom s € -
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3. ot eEfa<
4.  TA EEe
Options :

42558944140. 1
42558944141.2
42558944142. 3
42558944143. 4

Question Number : 148 Question Id : 42558911342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. TA HER
2. WEM M
3. HeYee! THTEFIH
4.  eMd 1@




Options :

42558944144. 1
42558944145.2
42558944146. 3
42558944147. 4

Question Number : 149 Question Id : 42558911343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

42558944148. 1
42558944149.2
42558944150. 3
42558944151. 4

Question Number : 150 Question Id : 42558911344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

42558944152. 1
42558944153. 2
42558944154. 3
42558944155. 4



